OUR BUSINESS & GLOBAL NETWORKS

DREAM FOR s

QlFel morett etsk=s 71E
QIFo| HO|x|of WOkt MiedS THELICE

198051 Q10| miokstl slisH= 712! OfH A HAIOR E¥isle] 22X
QIF 0| Holet M2 Sis 21A17| DIHASIS Mz Lks J1gio= o
Chist I240| BIES 9Isf St FS i LBt ASTHAE] BlLiCt

Quiality First, Best Service, Leading Technology Ao 2 117HS 74EE 25|
A7110, TMofA |1 SHL| MZS Z5ot=E ofELICh

> N N N
> > L

02 03 04 05

Z5158 THAH DEHEE FHAE ZTSER HAE =28 JHAH
NPT ATFIE O, MUHOR S 5301  NSA B LUWTSl  AMAENY S SIS0l AR BF MAEH, o 25 4 Sl 2
WEHH S0 NSl A 2 AUl SMlol SERY  AISEl= =2 5150 BH0| 1000K00] B £usEC]  MEI7 S ol271| @0l Cusiomizing CIRI! HAE]
o2 SRR 20| TR S0 NSl AR st A SUHTIRF SO AIBElE ARl A et 33
3150 2 24178 AAE A

Medical
Caster

Medium Duty Heavy Duty Extra Heavy
Industrial Caster Industrial Caster Duty Caster




TPA-LOSANGELES

0|, HA|Z2| Caster % Material Hand-ling
AZOIIM Caster 20F2| MPXIZ ZHZALR}
APESHE Md|A 5! U2 SEES KiEa 22
Z|2M Z0|2 Gustomer $iZt IHESHH 5

7|&E - MTEAIE MarketingZt3l2 THEE] 5

e, S xiefe] S
Bhof A]

TRIOPINES
TPA-CHICAGO

I, FHLtT 27tofl 307 FHAE] & A

ES

HiF ol XM= SES

1 8 ofxioz A2 a
A

=
Mt 25 2|2 o
I, AlfA|Eo]
tes st

Al Zne| =




We have a History
of Innovation.

Since 1980



EUROPE
AHQlL2|ZH)
£2H}7|oHEZ|LY

H3Be2 y :
3 3 (Z2|d| 30| AE|T) 3 HHEHH
AMERIACA L
0j= T ol : ' ‘}S‘('ﬁ) |
= E : SHR(0IH)2A
SEeEs 3 : S BHLL!
SLIOPA|OHENZ Zial,

QA0 HIEH)
UR(QAZY, =)

> ¢
oo 0

— s
ﬁ (G-GERH ) E G-CERTZ
EET=
womang o b ok Ty ——
ko [ —— —
ACCREDITED e i e

=L FHAE A Rt TRl YT SABZFHA| 1SO 14001 215,

o
NSF'QIZ HA| 87t 2R SEGIAAH 1SO 9001 215
| MH|AO] Ol2= 7 MMabgol 2

=L FHAE A Z=E ERAAH
ISO 215 E&

0|2 Q1ML ANAB)O]| 2f5t ZA| =01 mEio) ZH|Z217 |2 National Sanitation Foundation HE 2
SEEIAAL 01502 TIZHOKE By (NSF) AIZ£0} 7|A & BE0| OFH 0I5 EZAAA|IAH!1S09001 2151 HE0]
DE2MAQ SN a2 EXBIE O[5t SaEH U QN 20 MEIHSQ| st SHAZFAMAof 2Het ZHMERQ! ISO0140012
s Hostn dYsg st HE0} 7|Z=0 2 NSFRIS 22| LU 2= QISHIO X|&X01 SHHAH 7HMst
=LY FHAE A fst SEH BHC
'Kotra®15 EA| 517t £ E5ISEHS | £5 M10-1445595 E5iSEHS | £5] M10—1391219
Kotra Q152 25t B2 2 712244 o2 XtSAt AMHE0F S SHRISSH OS2I oA 3l AER0f § FAMIX|E ZaAE
HIZLA S22 2= 7|2 MY FHAER} XtSSk2IR SEWX| 7= ER FHAEOIN Z2tAE! S M
YT IR HRHNY, 592 S 3% SISz FESE HEUIA XS SOAE SIME IRAZ 22O 2 HX[E
|| SEUX|= Eof7 [ A= Ed7 e

se ke ot S2



HOW TO ORDER & FITTING TYPES

TP5040 - 01 - SRB -

AE|Z HS

Series Number

HI# 2| XIS A”HIO| ER

Wheel Diameter Fastening Type

40  :40 mm (1000t Al2|=) 0" = Top Platte (ZEH)
45  :45mm( ! ) 1" = Grip Ring Stem (2&)
50 :50mm( ) ) 2" = Threaded Stem Platte (LtAFS)
*R=Rigid 60 :60mm( ; ) 3" = Round Stem (¥F&)
76 76 mm( ) _
4" = QOctagon Stem (82} AHIS)
5" = Square Stem (4ZfAHIH)

11 :11/8" (29mm)

12 :11/4"(32mm)

15 :11/4" (40mm)

20 :2"(5Tmm)

22 :2"(51Tmm TWINHIR)
25 212" (64)

30 1" (767)

35 :31/2"(89")

6" = Grip Neck Stem (A7)

40 :4" (1027)
50 5" (1277)
60 :6" (1527)
80 :8" (2037)
10 :10" (2547)
12 :12" (305 7200AI12|%)

10 :1" (25~ 8000A|2|=)

ABIo| % / Top Plate(HLE)

0% ZIAtZHY 0* HAIZE 0% Atctalz 0% AtctalE 0* OIERE
o | o o | o o | o e | 2

Rectangular Plate Square Plate Trapezoid Plate Trapezoid Plate Diamond Plate




HOW TO ORDER & FITTING TYPES

H# 2| E=7 MEHALL

Wheel Type Option

SR = Soft Rubber (H&T2) AB = Antique Brass
SRB = Soft Rubber with Ball Bearing (ZH|0{Z A2 HZI1S) AC = Antique Copper
HR = Hard Rubber (ZZ12) BO = Bright Brass
HRB = Hard Rubber with Ball Bearing (SH|0{2! A2 ZAZID3) BR = Bright Brass
NYL = Nylon (LIZ=2) CR = Chrome Plating
LDP = Light Duty Plastic (45ts S2tAE!)

HDP = Heavy Duty Plastic (55}5 S2tAE!) SLB = Side Lock Brake
PLY = Polyurethane Tread Plastic Center (E2tAE! Q|0 15 2 EITE!)

TLB = Top Lock Brake

_ . . IZALAE|I © 1= _'EI_Iq_El )
MIR = Mirage Rubber Tread Plastic Center (E2tAE! 2|0 12 T2 TE)) SWB = Swivel Lock & Wheel Brake

GSR = Gray Soft Rubber (3|/MHZIT15) FLB = Front Lock Brake
RAL = RubberTread Aluminum Center (X20/5 2|0 22 TE) WB = Wheel Brake
STL = Steel (F2HIF) PSL = Four Position Swivel Lock
RSD = Rubber Tread Steel Disc Center (C|A3 {0 T2HE) DSL = Directional Lock
PSD = Polyurethane Tread Steel Disc Center (C|A3 2{0f L|EFE)
AL = Aluminum (¥20[sH)
RCl = Rubber Tread Cast Iron Center (F& /0l Z27E!) TG = Thread Guards
PCl = Polyurethane Tread Cast Iron Center (£= 2/0i L|EtZE!) DW= Double Welded Forks
PRO = Pro-Tech Polyurethane (2ZtAE! 0] L|EITE)
PHN = Phenolic (Tl=HH)
HPU = Hi-Elastic Polyurethane (1 EH Z2| 22| EtHI)
AHIo| mQk
* 2 2 LA v axy || oszauy || 5razaus | 6 2ns LN

Grip Ring Stem Threaded Stem Round Stem Octagon Stem Square Stem Grip Neck Stem Low Nut




WHEEL TYPE & OPTION

SERIES

wheel @

Load capacity

Wheel tread

Wheel center

Tread hardness

Temperature
resistance

Bearing types

Marking

SR

50-127mm
35 - 80kg

Solid Rubber

Hard Rubber

Shore A 80
-25T - +80C

= Plain bore
m Ball bearing

ESD(10°~10°Q)
Non-marking

Thread Guard

HR

50-127mm
45 - 115kg
Solid Rubber
Hard Rubber

Shore D 80

-25C - +80C

m Plain bore
m Ball bearing

ESD(10°~10°Q)

Non-marking

Thread Guard

PLY

32-127mm

14 - 115kg

Thermo Plastic Urethane

Polypropylene

Shore A 95
-25T - +70T

m Plain bore
m Ball bearing

ESD(10°~10°Q)

Thread Guard

PRO

102 - 250mm

130 - 220kg

Thermo Plastic Urethane

Polypropylene

Shore A 95
-25T-+70TC

m Roller bearing
m Ball bearing

ESD(10°~10°Q)

A

o

&

Antique Copper

o| Bk / PLATE(ZH|0|E)

nn

Black Oxide

Bright Brass

Chrome Plating




WHEEL TYPE & OPTION

MIR

50 -203mm

30 - 220kg

Thermo Plastic Rubber

Polypropylene

Shore A 80
-25TC - +60T

m Plain bore
m Roller bearing
m Ball bearing

ESD(10°~10°Q)

Thread Guard

RCI

102 - 203mm

110 - 225kg

Solid Rubber

Castiron

Shore A 80

-25T - +80C

m Roller bearing
m Ball bearing

ESD(10°~10°Q)

Non-marking

Thread Guard

PCI

102 - 305mm
220 - 1100kg
Polyurethane (MDI)
Castiron

Shore A 95
-30C - +70TC

m Roller bearing
m Ball bearing

ESD(10°~10°Q)

Thread Guard

PAL

138 - 203mm
400 - 2000kg
Polyurethane (TDI)
Aluminum

Shore A 95
-30C - +80C

m Ball bearing

ESD(10°~10°Q)

RSD
127 - 152mm
135 - 180kg
Solid Rubber
Steel disc

Shore A 80
-25C - +80C

m Ball bearing

ESD(10°~10°Q)
Non-marking

Thread Guard

22k / BRAKE(E[0]3)

Side Lock Brake

Top Lock Brake

7

i _{_.-_f_ﬂ_h_ ﬁ_}-/.-

Swivel &
Wheel Brake

[y 5328
%ﬁh
e
i ?f.h

Direction Lock &
SWB(Dual Lock)

/\% -r"" \:l

Front Lock Brake

o = LA
X N

Wheel Brake

4-Position
Swivel Lock




WHEEL TYPE & OPTION

PSD

152mm
250 - 360kg
Polypropylene(MDI)
Steel disc

Shore A 95
-30C - +70C

m Ball bearing

ESD(10°~10°Q)

Thread Guard

LDP

30-127mm
14 - 100kg

Polypropylene

Shore D 60
-20T - +60T

m Plain bore

H
ESD(10°~10°Q)

Non-marking

HDP
50-127mm
90 - 135kg

Polypropylene

Shore D 60
-20C - +60TC

m Plain bore

/Il

ESD(10°~10°Q)

NYL
30-127mm
14 - 135kg

Polyamide

Shore D 70
-25C - +80C

m Plain bore

/Il

ESD(10°~10°Q)

HPU

76 -127mm
56 - 80kg
Polyurethane(MDI)
Polypropylene

Shore A 80
-20T - +60TC

m Ball bearing

HE
ESD(10°~10°Q)

Non-marking

49 2 /ETC

Thread Guard

Double Welded Forks




BASICS TERMINOLOGY

* 2 IIEE09 MZSS Aol SXI 0] A0 HE E £ UFLICE
* 2 71230 #7|E RI= InchollA m/m B2 SMEH]| wat Al ZQES9| Xz 29ItAI7| HIZLICH

IHAEl E0f

S|MEtA (Swivel Radius)
D AR Zo| B0 HIFEIIXIQ] 72

0 HIZIZ (Tread Width)

Q HiZ|Q| A (Wheel Diameter)
D INAE F7IE LIER

m FHAE =0| (Overall Height)
© HIEfHOIA 221H7EX|Q] 0|

Q Al (Off Set)
 IHAE F9| MMM HIF SAMEX[Q| 72|

PLATE 20

o Overall

. Plate?| 27|

a Hole Spacing

: BoltE #%st= #E2| 74

e Attaching Bolt Size
| FEE Bolte] 74

SPEC CHART PICTOGRAM
b ¥ | | & O
Model NO. &S Model NO, &Y HIEE HIF = Hi#el BF Hofd &
—— - ' | <=
2 Y| G| ¥ | @
S IHAE =0 3|xeH M= Hioj 371




CONTENTS

HIGH-
TECHNOLOGY
CASTER & WHEEL

50| THEH 7F0| FLIC

Furniture Equipment (713 2 Al2717|8 FHAH) 014-021

TP1000 Series
TP1100 Series
TP1600 Series

Light Duty Industrial Casters (245158 FHAEFHAE]) 022-037

TP3000 Series
TP3200 Series
TP3600 Series
TP3700 Series
TP3800 Series
TP4000 Series
TP4500 Series

Medium Duty Industrial Casters (z(¢)5158 HAEHAE) 038-049

TP5000 Series
TP5200 Series
TP5100 Series
TP5500 Series



Heavy Duty Industrial Casters (=()st58 HAEFHAE]) -~ 050-079

TP6000 Series
TP6001 S/A Series
TP6061 Series
TP6200 Series
TP6300 Series
TP6600 Series
TP6007 MF Series
TP6700 Series
TP6800 Series
TP7000 Series
TP7100 /TP7200 KPL Series
TP7200 Series
TP7300 Series
TP7600 Series

Special Casters (E4xH|2 HAH) 080- 107

TP8000 Series
TP8030/TP8040 Series
TP8200 Series
TP8400 Series
TP8403 Series
TP8404 Series
TP8600 Series
TP8700 Series
TP8850 Series
TP8851 Series
TP9300 Series
TP9400 Series
TP9500 Series
Parking Caster Series

Shock-Absorbing Casters (258 jHAE) 108-119

TP6805 S/A Series
TP6806 S/A Series
TP6868 S/A | TP6887 S/A Series
TP7160 S/A Series
TP7501 S/A Series

Load Cell Caster (z=4 3{AH) 120
AIRCART (oljoi7tE) 121
Caster & Wheel Type (t712| 58) 122-135

Caster Manual GiAE =z AzA) 136-139



¢

- FUNITURE
EQUIPMENT
CASTERS




P

|7L%O| A

LIS &
=

TP1000 Series
TP1100 Series
TP1600 Series




FUNITURE
EQUIPMENT

CASTER
TP1000

SERIES

FEATURES

[m
oA

nre
o
(@)

Ny

HAE(ZnDC?2) Body
PP Protecter

STt 5

b

2 2]
h 5 7

fea]

1 68

H
ol

WHEEL OPTION

016



MODEL
DESCRIPTIONS @

Inch(mm)

TP1050 - ** 50

35

TP1060 - * * 60 .

r
fol

OPTION -

. Overall 38 x 38
YA

01 (Square Plate) Hole Spacing 26 x 26 67 77
Attaching Bolt Size M6(1/4")
21 LIAFS 5/16" x 181l x 25mm
60 67
23 (Threaded Stem) 3/8" x 1611 x 25mm
A @8 x 38mm ) )
61 ) 5 5
(Gripn Neck Stem) With Wood Socket

- EZHSO* ¥ of FStAIE HEE oM FEFHIAR,

OPTION
Antique Copper I| Bright Brass I| Chrome Plating

017



FUNITURE
EQUIPMENT
CASTER

TP1100

SERIES

FEATURES

Am
(2]

M O

ra

o
(@)

|7

I
om

I(ZnDC?2) Body

o ol E 5]
50
_‘
ﬂljg g
toi
ol

o
H1
o

I:Im;OtO
<5 M
-1

O TH
N
=]

SERIES

WHEEL OPTION

018



MODEL
DESCRIPTIONS @

Inch(mm)

TP1160 - * * 60 45

rE
fo

-

OPTION (m/m)
Overall 38 x38

Az )
01 (Square Plate) Hole Spacing 26 x 26 70
Attaching Bolt Size M6(1/4")
Grip Ring Type
12 (Without Ring) @58 x 20mm 67
21 5/16" x 2411 x 40mm(EtLEAD)
23 HAE 35" x 161 x 25mm(BHtAD 67
(Threaded Stem) .
25 M8 x 1.25p x 16mm

- ZBEHS O of Aothl= HEE HoIM FESHAIL.

OPTION

CR

Chrome Plating

019



FUNITURE
EQUIPMENT
CASTER

1P1600

SERIES

FEATURES

E x|
= o

Top Plate: 2.0t Steel

Yoke: 1.6t Steel

Swivel: & 3/16" & 5} 5/32" Steel Ball
Shaft: @5.0 Rivet

Ball Type Wheel

asks

=

Ot & AR
__l_L
PN

Iy

1E B >= o
o 40

ol ool
oA 0

t

SERIES

WHEEL OPTION

020



MODEL
DESCRIPTIONS @

TP1640 - ** PVC 40 40

TP1650-** PVC
50 45
TP1650 - * * PLY

OPTION
Overall 52 x32
BAIZS :
02 (Square Plate) Hole Spacing 40 x 20 58 68
Attaching Bolt Size M6(1/4")
21 LIAFS 12" x 1210 x 16mm .
23 (Threaded Stem) 5/16" x 18LLI x 25mm - 3
- EZHSOI* ¥ of FEtAlE HEE oM FEFHIAR,
OPTION
Antique Copper I| Bright Brass I| Chrome Plating

021



‘,—"_ = =

—. E—— itg NI s -_:.__ \.-H i =vor.) | .‘“—-—-—. = :d ~ 2 s
- —_—— T — @z

B e

"""_-"-l‘ 7 T el

_“f e — .’_-E'rz - T -
B B O Ny v, ' -

INDUSTRIAL
CASTERS




TP3000 Series
S

TP3800 Series

TP3200 Series

TP4000 Series

TP3600 Series

TP4500 Series

TP3700 Series




LIGHT DUTY

CASTER

1P3000

SERIES

FEATURES
sz

Top Plate: 2.6t Steel
Body: 1.6t Steel

Swivel: & 3/16" & G} 5/32" Steel Ball

Swivel center Pin: @8.0
Shaft: 1/4"(M6) Bolt & Nut

SERIES

©

WHEEL OPTION

SIZE 2" (50mm)
212" (64mm)
3" (76mm)

SIZE

2" (50mm)
212" (64mm)
3" (76mm)

SIZE

112" (38mm)
2" (50mm)
3" (76mm)

SIZE 2" (50mm)
3" (76mm)

SIZE

112" (38mm)

024




MODEL

DESCRIPTIONS @ _E'f_ @
TP3015-* *-PLY Polyurethane 30
11/2(38) 23/32(18) Plain 39
NYL Nylon 35
TP3020-* *-SR Soft Rubber 35
HR Hard Rubber 40
PLY 2(50) 13/16(20) Polyurethane Plain 35 45
NYL Nylon 40
MIR Rubber / Plastic 30
TP3025-* *-SR Soft Rubber 35
HR 21/2(64) 13/16(20) Hard Rubber Plain 45 53
MIR Rubber / Plastic 35
TP3030-* *-SR Soft Rubber 40
HR Hard Rubber 50
3(76) 13/16(20) Plain 60
PLY Polyurethane 45
MIR Rubber / Plastic 40
HS R
OPTION
Overall 52x32
HARE Hole Spacing 40 x 21
v (Rectangular Plate) o'€ opacing A x o0 o e o
Attaching Bolt Size M4(3/16")
1 @11 x30mm
2|3
12 o @11 x36mm 56 67 79 92
(Grip Ring Stem)
14 @11 x 326.4mm(Without Ring)
21 1/2"x 121 x 16mm 61 72 85 98
24 LA 3/8"x 16111 x 32 58 68 81 94
(Threaded Stem) c coemm
2A M12 x 1.75P x 16mm 66 68 81 94
- ESHSOI* * off YotAlE HSE HoM FRSHIAIR.
OPTION
SLB TLB FLB CR

Side Lock Brake Top Lock Brake (2") Front Lock Brake Chrome Plating

025



Top Plate: 3.0t Steel

Body: 2.0t Steel

Swivel: A 3/16" & G} 5/32" Steel Ball
Swivel center Pin: @11.0

Shaft: 1/4"(M6) Bolt & Nut

" (50mm)
" (76mm)

w N

w N

" (50mm)
" (76mm)

2" (50mm)

w N

" (50mm)
" (76mm)



MODEL

DESCRIPTIONS @

TP3220-* *-PLY Polyurethane 40
° AL Aluminum 57
'g SR 2(50) Soft Rubber 40 51
@ HR Hard Rubber 57
LDP Light Duty Plastic 55
TP3220-* *-PLY HOOD Polyurethane 40
ALHOOD 15/16(24) Aluminum Plain 57
-jg: SRHOOD 2 (50) Soft Rubber 40 51
HRHOOD Hard Rubber 57
LDP HOOD Light Duty Plastic 55
o TP3230-**SR Soft Rubber 45
S HR 3(76) Hard Rubber 60 64
g LDP Light Duty Plastic 60

rE
fol
O

OPTION & _

Overall 95x 70

BAEE Hole Spacing 75 x4
01 (Rectangular Plate) ole Spacing 75 x45
Attaching Bolt Size M8(5/16")
71 97
Overall 60 x 60
A )
02 Hole Spacing 48 x 48 to 38 x 38
(Square Plate)
Attaching Bolt Size M6(1/4")
1 23 (Grip Ring Stem) @11 x38mm 71 99
21 /2" x 1211 x 15mm 73
22 LIRS 5/16" x 181l x 32mm 72 o
23 (Threaded Stem) 3/g" x 1610 x 25mm 72
24 1/2"x 12111 x 35mm 72
31 HZ&(Round Plain Stem) @22 x 37mm - @6.5 Hole 68 97

- ZBEHS O of Aothlz HSE HoIM FESHIAIL.

OPTION

Top Lock Brake Chrome Plating

027



LIGHT DUTY

CASTER

1P3600

SERIES

FEATURES

E x|
= 0o

Top Plate: 3.0t Steel

Body: 2.3t Steel

Swivel: A 1/4" & 5t 3/16" Steel Ball
Swivel center Pin: @11.0

Shaft: 5/16"(M8) Bolt & Nut

SERIES

©

WHEEL OPTION

1

SIZE
76mm)

102mm)
127mm)

uhwWN
—~—— =

2" (64mm) SIZE

" (64mm)

(76mm)
(102mm)
(127mm)

SIZE

212" (64mm)

SIZE

212" (64mm)
3" (76mm)
4" (102mm)
5" (127mm)

SIZE

Aw

" (76mm)
" (102mm)

028




MODEL
DESCRIPTIONS

@

Inch(mm) | Inch(mm)

O

TP3625-* *-SR TP3625-* *-SR Soft Rubber
HR HR Hard Rubber Plain
PLY PLY 21/2(64) Polyurethane 45 84 57
PLYTG PLYTG Polyurethane
MIRTG MIRTG Rubber / Plastic o v
TP3630-* *-SR TP3630R-SR Soft Rubber 45
HR HR Hard Rubber 55
LDP LDP 3(76) Light Duty Plastic 65 95 66
MIR MIR 125) Rubber / Plastic 55
MIRTG MIRTG Rubber / Plastic 55
TP3640-* *-SR TP3640R-SR Soft Rubber 55
HR HR Hard Rubber Plain 60
LDP LDP 4(102) Light Duty Plastic 80 120 80
MIR MIR Rubber / Plastic 60
MIRTG MIRTG Rubber / Plastic 60
TP3650-* *-SR TP3650R-SR Soft Rubber 60
HR HR 5(127) Hard Rubber 65 146 94
MIR MIR Rubber / Plastic 65
STEM M5 F 2 mm)
OPTION Size Overall Hole Spacing Attaching Bolt Size
o RIAFZHES S S| 70 x 60 55x42
(Rectangular Plate) InksE| 70 x 47 55x 28 M8 (5/16")
3'~5" 95x70 76to73x45
1 2y @11 x38mm
13 (Grip Ring Stem) ©22.5x 56mm
21 12" x 121l x 16mm
22 716" x 141l x 57mm
23 LIAKE 5/8"x 111 x 32mm -
24 (Threaded Stem) 5/8"x 1111 x 20mm
29 12" x 1211 x 35mm
2A M12 x 1.75P x 20mm
32 73 (Round Plain Stem) @16 x 87mm - @7 Hole
- ZEHS O ¥ of Asthl= HEE HoIM FESMAIL,
OPTION

CR

Top Lock Brake

Chrome Plating

029



LIGHT DUTY

CASTER

1P3700

SERIES

FEATURES

E X|
(=]

Top Plate: 3.0t Steel
Body: 2.3t Steel

Swivel: & 1/4" & G} 3/16" Steel Ball

Swivel center Pin: @11.0
Shaft: 5/16"(M8) Bolt & Nut

2c

oz 71(7]

SERIES

WHEEL OPTION

SIZE 3" (76mm)
4" (102mm)

SIZE 3" (76mm)
4" (102mm)

030




MODEL
DESCRIPTIONS @ _E.f_ @

Inch(mm) Inch(mm)

TP3730-* *-SR SWB Soft Rubber Plain
MIR SWB 3(76) 105 76
Rubber / Plastic C/Ball 55
MIRTG SWB (#600222)
1(25)
TP3740-* *-SR SWB Soft Rubber Plain 55
MIR SWB 4(102) 128 81
Rubber / Plastic C/Ball 60
MIRTG SWB (#600222)

STEM Hs 3 2 (m/m)

OPTION 23 5/8"x 11111 x 32mm
25 LiAFES M12x 1.75P x 25mm
27 (Threaded Stem) 5/8" x 11111 x 20mm
28 5/8" x 111 x 40mm
- 2EHS* ¥ of HotA s HEE EoN FESHIAIR.
OPTION

CR

Chrome Plating

031



LIGHT DUTY
CASTER

1P3800

SERIES

FEATURES

Am

x|
(=]

Body: PA6 + GF(Nylon)
Swivel: #6002 Precison Ball Bearing
Swivel center Pin: @15.0

2c

oz 77|
SATIE 28717

[Syyu
Z4FE| F8717| U HE)

= oo

| TR 17| S HEE|

SERIES

WHEEL OPTION

SIZE 4" (102mm)




MODEL
@ 31 @
L

TP3840-2 *- MIRTG C/Ball
1(25) Rubber / Plastic 84
MIRTG SWB (#6002)

OPTION 21 e M12x1.75P x 25mm
57 (Threaded Stem) 5/8" x 1111 x 20mm
- BEHS0| * * 0 YAl HSE oI FRFHIAL.
OPTION

033



LIGHT DUTY

CASTER

1P4000

SERIES

FEATURES

E x|
= o

Top Plate: 1.6t~3.2t Steel

Body: 1.6~3.2t Steel

Swivel: 5/32" & 3/8"Steel Ball

Swivel center Pin: @6.0

~0140

Shaft: @5.0 Rivet ~ 7/16"Bolt & Nut

AN}
~
oo
w
3
z
Q
QO
n
D

SERIES

WHEEL OPTION

SIZE 2" (50mm)
212" (64mm)
3"(76mm)

SIZE 2" (50mm)
214" (64mm)
3" (76mm)

SIZE 3"(76mm)

SIZE 114" (32mm)
112" (40mm)
2" (50mm)
217" (64mm)
3" (76mm)

SIZE 3" (76mm)

SIZE 2"(50mm)

SIZE 114" (40mm)
2" (50mm)
214" (64mm)

034



MODEL

@ &

DESCRIPTIONS
Inch(mm
TP4011-01-NYL 11/8(29) . Nylon 14 39 22
TP4012-* *-PLY P4012RPY 17432 1604 T polyurethane 14 43 )8
TP4015-* *-NYL TP4015R-NYL Nylon
PLY pry 12080 a3, qg) Polyu)rlethane = o w
TP4020-* *-PLY TP4020R-PLY Polyurethane 40
NYL NYL Nylon 55
AL AL 2(50) 1(25) Aluminum Plain 57 63 44
SR SR Soft Rubber 40
HR HR Hard Rubber 57
TP4025-01-SR TP4025R-SR Soft Rubber 45
HR HR Hard Rubber 80
PLY PLY 212(64) | 11/16(27) Polyurethane 45 = ol
NYL NYL Nylon 80
TP4030-01-SR TP4030R-SR Soft Rubber Plain 56
SRB SRB Soft Rubber Ball 110
HR HR Hard Rubber Plain 100
HRB HRB Hard Rubber Ball 110 % 69
PLY TG PLYTG 3(76) Polyurethane Ball 100
PLY PLY 11/4(32) Polyurethane Plain 65
LDP LDP Light Duty Plastic Plain 100
HDP HDP Heavy Duty Plastic Plain 110
OPTION
11/8"(29)-01 45x 30 35x20 M4(5/32")
11/4"(32)-01 60 x 30 44 M4(5/32")
02 45 x 30 35x20 M4(5/32")
11/2"(40)-01 55x38 44 x 27 M4(5/32")
g‘j 05 100x 70 82x50 M4(5/32")
ol 06 55x38 44 x 27 M5(3/16")
2 (50)-01 65x48 54 x 24 Mé6(1/4")
05 100x 70 82 x50 M4(5/32")
21/2"(64) 98 x 70 76 x 45 M8(5/16")
3 (7 104 x 79 86 x 60 M8(5/16")
11/4"(32 60 x 25 44 M4(5/32")
11/2"(40 55x38 44 x 27 M4(5/32")
gg 2 68 x 38 54x24 M6(1/4")
= 2 (50)-04 68 x 38 54 Mé6(1/4")
21/2"(64) 113x57 89 x 27 M8(5/16")
3 (76) 125x63 102 x 30 M8(5/16")
OPTION
SLB TG

Side Lock Brake Thread Guards
(31%) (2 o M HMZ)

035



LIGHT DUTY
CASTER

1P4500

SERIES

FEATURES

E X|
(=]

Top Plate: 2.0t Steel
Body: 2.0t Steel

Swivel: 7/32
Swivel center Pin: @11.0
Shaft: 1/4"(M6) Bolt & Nut

I}

> B oY 0
oE 0

Dl

" Steel Ball

t71712 Show case

SERIES

WHEEL OPTION

SIZE

2" (50mm)

SIZE

2" (50mm)

SIZE

2" (50mm)

SIZE

2" (50mm)

SIZE

2" (50mm)

036




MODEL

DESCRIPTIONS @ .E.f.

Inch(mm)

TP4520-* *-PLY TP4520R-PLY
NYL NYL
AL AL 2(50)
SR SR
HR HR

Inch(mm)

1(25)

O

Polyurethane
Nylon
Aluminum
Soft Rubber
Hard Rubber

Plain

40

55
57
40
57

o)

66 47

STEM Overall Size Bolt Hole Spacing Attaching Bolt Size
opTioN

al13
65 x 48 54x24 Mé6(1/4")
2(50) - 01
DY
68 x 38 54x24 M6(1/4")
2(50) - 01

L ESHE0| * * 0f U= HEES Lo F25HINS.

OPTION

Top Lock Brake
(&)

037




INDUSTRIAL s P
CASTERS =







MEDIUM
DUTY
CASTER

TP5000

SERIES

FEATURES

E x|
= 0o

Top Plate: 4.0t Steel

Body: 2.6t Steel

Swivel: 1/4" Steel Ball
Swivel center Pin: @12.7
Shaft: 3/8"(M10) Bolt & Nut

1oz o
> 1? H-l
oz 0f

4EHO
oz
ofn 4
00

HU
~
N

SERIES

©

WHEEL OPTION

SIZE SIZE
3" (76mm) 3" (76mm)
4" (102mm) 4" (102mm)
5" (127mm) 5" (127mm)

SIZE

3" (76mm)
4" (102mm)
5" (127mm)

SIZE

3" (76mm)
4" (102mm)
5" (127mm)

SIZE

3" (76mm)
4" (102mm)
5" (127mm)

SIZE

3" (76mm)
4" (102mm)
5" (127mm)

SIZE
3" (76mm)
4" (102mm)
5" (127mm)

040




MODEL

DESCRIPTIONS
TP5030-* *-SR TP5030R-SR Soft Rubber Plain 56
SRBTG SRBTG Soft Rubber Ball 56
HR HR Hard Rubber Plain 100
HRBTG HRBTG Hard Rubber Ball 110
GSR GSR Gray Soft Rubber Plain 56
LDP LDP 3(76) Light Duty Plastic Plain 100 104 78
HDP HDP Heavy Duty Plastic Plain 110
PLY PLY Polyurethane Plain 75
PLYTG PLYTG Polyurethane Ball 700
MIRTG MIRTG Rubber / Plastic Ball 70
HPU HPU H.P.U / Plastic Ball 56
TP5040-* *-SR TP5040R-SR Soft Rubber Plain 75
SRBTG SRBTG Soft Rubber Ball 75
HR HR Hard Rubber Plain 115
HRBTG HRBTG Hard Rubber Ball 115
LDP LDP 11/4(32) Light Duty Plastic Plain 100
HDP HDP 4(102) Heavy Duty Plastic Plain 135 129 89
STL STL Steel Plain 135
PLY PLY Polyurethane Plain 85
PLYTG PLYTG Polyurethane Ball 105
MIRTG MIRTG Rubber / Plastic Ball 100
HPU HPU H.PU / Plastic Ball 75
TP5050-* *-SR TP5050R-SR Soft Rubber Plain 80
SRBTG SRBTG Soft Rubber Ball 80
HR HR Hard Rubber Plain 115
HRBTG HRBTG Hard Rubber Ball 115
HDP HDP 5(127) Heavy Duty Plastic plain 135 156 101
PLY PLY Polyurethane Plain 95
PLYTG PLYTG Polyurethane Ball 115
MIRTG MIRTG Rubber / Plastic Ball 110
HPU HPU H.P.U / Plastic Ball 80
STEM Hs F Zom
OPTION A2t Overall 95x64x4t
01 e Hole Spacing 76 to 73 x 45
(Rectangular Plate) Attaching Bolt Size M8 (5/16")
XIAbZbE R Overall 114x95
02 (_I;()\l-t_‘ = EISIQPTI?(; Hole Spacing 92 x76 to 76 x 68
ectanguiartiate Attaching Bolt Size M10 (3/s")
21 LpAR /2" x 1311 x 25mm FHAE] =0[(m/m)
23 o 5/8" x 1111) x 27mm 3"(76) 4"(102) 5"(127)
(Threaded Stem)
24 5/8"x 1111 x 16mm 108 133 160
31 %84 (Round Plain STEM) @22 x 55mm - @8, THole
41 82t5(Octagon Stem) @22 x 62mm - @7, 3Hole
- BEHSOI* ¥ off HotAlE HEE 0N FESHIAIR,
OPTION
TLB SWB TG CR L/N
Top Lock Brake ) Thread Guards
(375 Swivel & Wheel Brake (= Hlol ARl H=) Chrome Plating Low Nut

041



MEDIUM
DUTY
CASTER

TPS ] OO (Stainless Steel Caster)

SERIES

FEATURES

E x|
= 0o

Top Plate: 3.0t SUS304
Body: 2.5t SUS304

Swivel: 1/4"SUS304 Ball
Swivel center Pin: @12.7
Shaft: 3/8"(M10) Bolt & Nut
e Aot

SERIES

—

L

— ‘V

<

Y

WHEEL OPTION

SIZE 3" (76mm)
4" (102mm)
5" (127mm)

SIZE

3" (76mm)
4" (102mm)
5" (127mm)

SIZE 3" (76mm) SIZE
4" (102mm)
5" (127mm)

“

3" (76mm)
4" (102mm)
5" (127mm)

042




MODEL
DESCRIPTIONS

TP5130-* *-NYL TP5130R-NYL Nylon 110
LDP LDP Light Duty Plastic 100
3(76) ) 104 73
HDP HDP Heavy Duty Plastic 110
PLY PLY Polyurethane 75
TP5140-* *-NYL TP5140R-NYL Nylon 135
LDP LDP 11/4(32 Light Duty Plastic Plain 100
400y |G : 129 | 89
HDP HDP Heavy Duty Plastic 135
PLY PLY Polyurethane 85
TP5150-* *-NYL TP5150R-NYL Nylon 135
HDP HDP 5(127) Heavy Duty Plastic 135 156 102
PLY PLY Polyurethane 95
OPTION Overall 95 x 64
Az | .
01 (Rectangular Plate) Hole Spacing 76 to 73 x 45
Attaching Bolt Size M8(5/16")
23 LIAF&(Threaded Stem) 5/8" x 111 x 27mm
- BBHS O ¥ of AstAls HEE HoIA FRSHAIL.
OPTION

SWB

Top Lock Brake
(&)

Swivel & Wheel Brake

(5")

043



MEDIUM
DUTY
CASTER

1P5200

SERIES

FEATURES

E x|
= 0o

Top Plate: 4.0t Steel

Body: 2.6t Steel

Swivel: 1/4" Steel Ball
Swivel center Pin: @12.7
Shaft: 3/8"(M10) Bolt & Nut
83X Dust Cover

SERIES

WHEEL OPTION

SIZE SIZE
3" (76mm) 3" (76mm)
4" (102mm) 4" (102mm)
5" (127mm) 5" (127mm)

SIZE

3" (76mm)
4" (102mm)
5" (127mm)

SIZE

3" (76mm)
4" (102mm)
5" (127mm)

SIZE

3" (76mm)
4" (102mm)
5" (127mm)

SIZE

3" (76mm)
4" (102mm)
5" (127mm)

SIZE
3" (76mm)
4" (102mm)
5" (127mm)

044




MODEL

DESCRIPTIONS
TP5230-* *-SR TP5230R-SR Soft Rubber Plain 56
SRBTG SRBTG Soft Rubber Ball 80
HR HR Hard Rubber Plain 95
HRBTG HRBTG Hard Rubber Ball 95
LDP LDP Light Duty Plastic Plain 95 105 73
HDP HDP 3(76) Heavy Duty Plastic Plain 115
PLY PLY Polyurethane Plain 75
PLYTG PLYTG Polyurethane Ball 100
MIRTG MIRTG Rubber / Plastic Ball 70
HPU HPU H.PU / Plastic Ball 56
TP5040-* *-SR TP5040R-SR Soft Rubber Plain 75
SRBTG SRBTG Soft Rubber Ball 75
HR HR Hard Rubber Plain 115
HRBTG HRBTG Hard Rubber Ball 115
LDP LDP 11/4(32) Light Duty Plastic Plain 100
HDP HDP 40102 Heavy Duty Plastic Plain 135 120 o
PLY PLY Polyurethane Plain 85
PLY TG PLYTG Polyurethane Ball 105
MIRTG MIRTG Rubber / Plastic Ball 110
HPU HPU H.P.U / Plastic Ball 75
TP5250-* *-SR TP5250R-SR Soft Rubber Plain 80
SRBTG SRBTG Soft Rubber Ball 80
HR HR Hard Rubber Plain 115
HRBTG HRBTG Hard Rubber Ball 115
HDP HDP 5(127) Heavy Duty Plastic plain 135 158 101
PLY PLY Polyurethane Plain 95
PLY TG PLYTG Polyurethane Ball 115
MIRTG MIRTG Rubber / Plastic Ball 110
HPU HPU H.PU / Plastic Ball 80
STEM "5 F ZHom
OPTION RAZES Overall 95 x 64
01 (Rectangular Plate) Hole Spacing 76 to 73 x 45
Attaching Bolt Size M8 (5/16")
XAZHS, Big Plate Overall 194x 79
02 (Rectangular Plate) Hole Spacing 87 x 60
Attaching Bolt Size M8 (5/16")
12 I @21 x 62mm
13 Y&(Grip Ring Stem) ?21 x 62mm(Ring x 2EA)
21 . 1/2" x 1311) x 25mm FHAE] FO0|(m/m)
LIAFS(Threaded Stem) 3"(76) 4"(102) 5"(127)
23 /2" x 1311 x 56mm 75 126 127
52 AZF&(Square Stem) 7/8" x 7/8" x 63mm - @6 Hole
- ESHSOI* * off YotAlE HSE oM FRSHIAIR.
OPTION

TLB TG CR

Top Lock Brake Thread Guards

(3743 (2 lof2! A2l A=) Chrome Plating

045



MEDIUM
DUTY
CASTER

TP5501

SERIES

FEATURES

E X|
(=

Body: PA6 + GF(Nylon)

Swivel: #6203 Precison Ball Bearing
Swivel center Pin: @12.7

Shaft: 5/16"(M8) Bolt & Nut

2c

o|z71(7]
2ATIE 28717]

o T

| TR 17| S HEE|

SERIES

WHEEL OPTION

SIZE 5" (127mm)




MODEL

DESCRIPTIONS © | & @ n
Lo

Inch(mm) Inch(mm)

5(127) 11/4(32) Rubber / Plastic Ball 90 172 104

TP5551-**MIR
MIR SWB

OPTION Standard 92 x 64
S Hole Spacing 75 x 4
ol (Rectangular Plate) ole Spacing 75x45
Attaching Bolt Size M8(5/16")
21 1/2"x 131 x 25mm
LIAFA
5/t
23 (Threaded Stem) /8" x 1111 x 25mm
25 M12 x 1.75P x 25mm
- ESHS O * off YotAlE HSE oM FRSHIAIR.
OPTION

047



MEDIUM
DUTY
CASTER

1P5503

SERIES

FEATURES

E x|
= 0o

Top Plate: 3.0t PO / SUS304
Body: Nylon + Glass Fiber
Swivel: #6204zz Ball Bearing
Swivel center Pin: @12.7
Shaft: 5/16"(M8) Bolt & Nut

8=

Haol 15 Ik & Hohd
StuAg 5 349 g 7IXHg
AFE FHI7|) H 2T 7K
oid 8l e 2 71X
SERIES

WHEEL OPTION

SIZE 5" (127mm)




MODEL

DESCRIPTIONS © | & @ n
Lo

Inch(mm) Inch(mm)

TP5553-* *-MIR
5(127) 11/2(38) Rubber / Plastic Plain 120 170 102
TP5553-* *-MIR SWB
OPTION Overall 92 x 64
: BARE Hole Spacing 75 x 45
Y (Rectangular Plate) o€ opacing /> x
Attaching Bolt Size M8(5/16")
Overall 114x102
NG B
04 (Rectangular Plate) Hole Spacing 92 x 67 to 76 x 76
Attaching Bolt Size M10(3/s")
- EEHSO* ¥ of HetAlE HEE 0N FESHIAIR,
OPTION

SWB

Swivel & Wheel Brake

049






CONTENTS

=
>
m
=
ofl
O|If.
O]
Q
@
@
()
a
(@)
o

TP6000 Series

TP6700 Series

TP6001 S/A Series

TP6800 Series

TP6061 Series

TP7000 Series

TP6200 Series

TP7100/TP7200 KPL Series

TP6300 Series

TP7200 Series

TP6600 Series

TP7300 Series

TP6007 MF Series

TP7600 Series




HEAVY
DUTY
CASTER

1P6000

SERIES

FEATURES

£3
Top Plate: 4.0t Steel

Body: 3.0t Steel

Swivel: 1/4" Steel Ball
Swivel center Pin: @16.0
Shaft: @20 (1/2"Bolt & Nut)

gz

Roll tainer

25 Y2 U7
E|

)
ohel Zatagl 2y

P

0
i of

og!

SERIES

WHEEL OPTION

SIZE " (127mm)

" (152mm)

o un

SIZE

" (127mm)
" (152mm)

5
6

052




MODEL
DESCRIPTIONS

Inch(mm) | Inch(mm)

TP6050-* *-RSD TP6050R-* *-RSD Rubber / Steel Disc 160
5(127) , 178 105
PSD PSD P.U / Steel Disc 320
125/32(45) . Ball
TP6060-* *-RSD TP6060R-* *-RSD Rubber / Steel Disc 180
6(152) 198 115
PSD PSD P.U / Steel Disc 360
STEM - 7 4 (m/m)
a
OPTION Standard Overall Hole Spacing Attaching Bolt Size
01 A& (Square Plate) S|y 118 x 118 90x90 to 80x80
M10 (3/s")
(6060) x| AF2¢84(Rectangular Plate) Inks= 132 x 93 100 x 55
02 FAtZE (Square Plate) 3 102 x 102 80x80 to 75x75
M10 (3/s")
(6050) | &/ Atz (Rectangular Plate) InksE 137 x 90 104x58 to 94x52
- ESHSO|* ¥ off YotAlE HSE oM FRSHIAIR
OPTION
TLB CR
{'ﬁiﬂ\f
Nl
g -
| @
]
Top Lock Brake .
(3]x15) Chrome Plating

053



HEAVY
DUTY
CASTER

TP6001T S/A

SERIES

FEATURES

E x|
= o

Top Plate: 4.0t Steel
Body: 3.0t Steel

Swivel: 1/4" Steel Ball
Swivel center Pin: @14.0
Shaft: M8 Bolt & Lock Nut

2o| B 25 HHAH

SERIES
WHEEL OPTION
SIZE 6" (152mm) SIZE 6" (152mm)

054



MODEL
DESCRIPTIONS @ _E.f_ @
[ | -
TP6061-* *-PSD-SA - 6(152) | 11/2(40) P.U / Steel Disc Ball 160 198 117
STEM - 7T A (m/m)
W= &
OPTION Overall Hole Spacing Attaching Bolt Size
3y 110 x 110
01 90x90 to 75x75
EY 125 x 125
M10 (3/8")
S|y 102 x 102
02 80x80 to 75x75
kS 110 x 110
- EZHS O * ¥ of RIStAlE HES 20 FESHIAIL.
OPTION
TLB CR

Top Lock Brake
(31H%)

Chrome Plating

055



HEAVY
DUTY
CASTER

TP606T

SERIES

FEATURES

E X|
©

Top Plate: 4.0t Steel
Body: 3.0t Steel

Swivel: 1/4" Steel Ball
Swivel center Pin: @14.0
Shaft: M12 Bolt & Nut

g

Roll tainer

25 3Y=2 247
E|

e Zatagl 2oin

0l 0|-
W of

SERIES

WHEEL OPTION

SIZE 6" (152mm)

SIZE

6" (152mm)

056




MODEL

DESCRIPTIONS
TP6061-* *-RSD TP6061R-* *-RSD Rubber / Steel Disc 160
6(152) | 1916 (40) Ball 191 117
PSD PSD P.U / Steel Disc 250
7
STEM s z= T &4 (m/m)
OPTION Overall Hole Spacing Attaching Bolt Size
3y 110 x 110
01 90x90 to 75x75
EY 125 x 125
M10 (3/8")
S|y 102 x 102
02 80x80 to 75x75
nBSE: 110 x 110

- BEHS O of Aothl= HESE HoIM FESHIAIL.

OPTION

Top Lock Brake

(3]x15) Chrome Plating

057



HEAVY
DUTY
CASTER

1P6200

SERIES

FEATURES

E x|
= 0o

Top Plate: 4.0t Steel

Body: 4.0t Steel

Swivel: A 1/4" & Gt 7/32" Steel Ball
Swivel center Pin: @12.0

Shaft: 1/2" (M12) Bolt & Nut

2

PIPE RACK CHXF

o
715 572 2uy

SERIES

WHEEL OPTION

SIZE " (102mm) SIZE
" (127mm)

" (152mm)

o U1 b

" (102mm)
" (127mm)
" (152mm)

o U1 b

SIZE

4" (102mm)
5" (127mm)
6" (152mm)

058




MODEL
DESCRIPTIONS

TP6240-**-RCI TG =~ TP6240R-RCl TG Rubber / Cast Iron 110
PCI TG PCI TG 4(102) PU/CastIron 220 136 86
PROTG PROTG Polyurethane / Plastic 130
TP6250-**-RCI TG = TP6250R-RCl TG Rubber / Cast Iron Roller 130
PCI TG PCI TG 5(127) | 11/2(38) PU / Cast Iron 250 161 104
PROTG PROTG Polyurethane / Plastic (oon 150
TP6260-**-RCI TG =~ TP6260R-RCl TG Rubber / Cast Iron 130
PClI TG PCl TG 6(152) PU / Cast Iron 250 191 118
PROTG PROTG Polyurethane / Plastic 180
STEM s F ZHovm
OPTION Overall 97 x 86
01 Hole Spacing 76 x 58 to 68 x 66
Attaching Bolt Size M10 (3/s")
Overall 114x102
NG
02 (Rectangular Plate) Hole Spacing 92x67 to 76 x76
Attaching Bolt Size M10 (3/s")
Overall 107 x 120
05 Hole Spacing 60 to 72 x 68
Attaching Bolt Size M10 (3/s")
21 LIAF&(Threaded Stem) 5/8" x 111 x 50mm

- BEHSO| * ¥ of RSt HESE Lo{M FESHIAIR.

OPTION

Top Lock Brake
(&)

059



HEAVY
DUTY
CASTER

TP63 OO (Stainless Steel Caster)

SERIES

FEATURES

E X|
o

Top Plate: 4.0t SUS304
Body: 4.0t SUS304

Swivel: 1/4" SUS304 Ball
Swivel center Pin: @12.7
Shaft: 1/2" (M12) Bolt & Nut
HMehoiot

SERIES

WHEEL OPTION




MODEL
DESCRIPTIONS

TP6340-* *-PRO TP6340R-PRO 4(102) 130 136 86
SUS
TP6350-* *-PRO TP6350R-PRO 5(127) | 11/2(38) | Polyurethane/Plastic | Roller 150 161 104
(#001)
TP6360-* *-PRO TP6360R-PRO 6(152) 180 191 118
OPTION Overall 97 x86
AR Hole Spaci 76 x 58 to 68 x 66
ol (Rectangular Plate) ole Spacing X 0 68x
Attaching Bolt Size M10 (3/s")
- 2EHS* ¥ of Yot s HEE oM FRSHIAIR,
OPTION
TLB

Top Lock Brake
(31H%)

061



HEAVY
DUTY
CASTER

1P6600

SERIES

FEATURES

E x|
= ©°

Top Plate: 6.0t Steel

Body: 6.0t Steel

Swivel: & 5/16" & G} 1/4" Steel Ball
Swivel center Pin: M14 Bolt & Nut
Shaft: 1/2" (M12) Bolt & Nut

SERIES

©

WHEEL OPTION

SIZE 4" (102mm)
5" (127mm)
6" (152mm)
8" (203mm)

SIZE

SIZE

SIZE

062




MODEL
DESCRIPTIONS

Inch(mm)

TP6640-* *-RCI TG TP6640R-RCITG Rubber / Cast Iron 160
PITG PCITG PU/ Cast Iron Roller 350
PRO PRO 4102 Polyurethane / Plastic o 150 1 v
MIRB/BTG MIRB/BTG Rubber / Plastic Ball(#6003)| 130
TP6650-* *-RCI TG TP6650R-RCITG Rubber / Cast Iron 170
PCITG PCITG PU/ Cast Iron Roller 360
PROTG PROTG 212 Polyurethane / Plastic o 180 1o 10
MIRB/BTG MIRB/BTG 2(50) Rubber / Plastic Ball(#6003) 150
TP6660-* *-RCI TG TP6660R-RCITG Rubber / Cast Iron 185
PCITG PCITG PU/ CastIron Roller 350
6(152) (#003) 187 114
PROTG PROTG Polyurethane / Plastic 210
MIRB/BTG MIRB/BTG Rubber / Plastic Ball(#6003) 180
TP6680-* *-RCITG TP6680R-RCI TG Rubber / Cast Iron 225
PCITG PTG 8(203) PU/Cast Iron Roller 400 241 165
PROTG PROTG Polyurethane / Plastic (#003) 220
MIRB/BTG MIRB/BTG Rubber / Plastic 250
STEM s F ZHovm
OPTION Overall 114x102
01 Hole Spacing 92 x 67 to 76 x 76
RIA2tE Attaching Bolt Size M10 (3/8")
(Rectangular Plate) Overall 140x 127
04 Hole Spacing 114 x 105
Attaching Bolt Size M10 (3/s")
21 LtAFS(Threaded Stem) 3/4"x 10(1) x 50mm
L E28E0| * * 0f FBHAI= HES Lo R25HINS.
OPTION
TLB DW PSL-4
ah@
| H}ﬁ\f .
L8 > ar L2
Top Lock Brake Double Welded Forks Four Position Swivel Lock
(31H%) (¥HET) (k)

063



HEAVY
DUTY
CASTER

TP6607 MF

SERIES

FEATURES

E X|
©

Top Plate: 6.0t HR Steel
Body: 6.0t HR Steel
Bearing: #6004-2RS

Swivel center Pin: @35.0mm
Shaft: 1/2" (M12) Bolt & Lock Nut

2
s =571 HAH
& sdz 2
XISAFAEE THEIE
SERIES

WHEEL OPTION

SIZE

5.5" (138mm)
8" (203mm)

064




MODEL
e
o

TP6657MF-**-PAL BB
TP6657MF-R-**-PALBB | 5.5"(138) 500 184.5 125
TP6657MF-**-PAL BB-ART
2" (50) PU / Aluminum Ball
TP6687MF-**-PAL BB
TP6687MF-R-**-PALBB | 8"(203) 600 250 162
TP6687MF-**-PAL BB-ART

OPTION Overall 114x102

01 Hole Spacing 92 x 67 to 76 x 76
Attaching Bolt Size M10 (3/s")
Overall 160x 128

06 BARE Hole Spacing 130 x 100
(Rectangular Plate)
Attaching Bolt Size M12 (1/2")
Overall 100x 130
07 Hole Spacing 77.5 x 105

Attaching Bolt Size M12 (1/2")

- EEHSO| ¥ of RstAl= HSE LoM FESHIAIR.

OPTION

065



HEAVY
DUTY
CASTER

TP67OO (Stainless Steel Caster)

SERIES

FEATURES

E x|
= o

Top Plate: 6.0t SUS304
Body: 6.0t SUS304

Swivel: 5/16" SUS304 Ball
Swivel center Pin: M14
Shaft: 1/2" (M12) Bolt & Nut
FHaolot

2c
A AEE 2o
42 90 R0 I 7h 24 B
SERIES
WHEEL OPTION

SIZE

SIZE

SIZE

o wun

"(127mm)
" (152mm)

066




MODEL

DESCRIPTIONS

TP6740-* *-PRO TP6740R-PRO Polyurethane / Plastic 150
MIR MIR 4102) Rubber / Plastic SUS Roller 130 1 o0

TP6750-* *-PRO TP6750R-PRO Polyurethane / Plastic | (#003) 180
MIR MIR 5(127) Rubber / Plastic 150 165 108
NYL B/B NYL B/B 2(50) Nylon / Plastic SUS(#6003) | 180

TP6760-* *-PRO TP6760R-PRO Polyurethane / Plastic | gygpofler | 210
MIR MIR 6(152) Rubber / Plastic (#003) 180 187 114
NYL B/B NYL B/B Nylon / Plastic SUS@6003) | 210

TP6780-* *-PRO TP6780R-PRO 8(203) Polyurethane / Pl.astic SUSRoller| 250 e i
MIR MIR Rubber / Plastic (#003) 220

OPTION Overall 114x102
NG .
01 (Rectangular Plate) Hole Spacing 92 x 67 to 76 x 76
Attaching Bolt Size M10 (3/s")

- EEHSO * ¥ of HstA

= 9SS oA FRSHIAR.

OPTION

Top Lock Brake
(31H%)

067



HEAVY
DUTY
CASTER

TP6800

SERIES

FEATURES

E X|
©

Top Plate: 6.0t Steel

Body: 6.0t Steel

Swivel: A} 3/8" & 5 5/16" Steel Ball
Swivel center Pin: 3/4" Bolt & Nut
Shaft: 1/2" (M12) Bolt & Nut

SERIES

WHEEL OPTION

SIZE

068



MODEL
DESCRIPTIONS @ _E.f_
Inch(mm)
TP6840-* *-RCI TG TP6840R-RCITG Rubber / Cast Iron 160
4(102) 143 97
PCITG PCITG PU/ CastIron 320
TP6850-* *-RCITG = TP6850R-RCITG Rubber / Cast Iron Roller 170
5(127) 2(50) #4003 166 102
PCITG PCITG PU/ Cast Iron (#003) | 3¢9
TP6860-* *-RCITG TP6860R-RCI TG Rubber / Cast Iron 185
PCITG PCITG 6(152) PU/CastIron 360 190 121
PCI (H) PCI (H) 23/3(60) PU / Cast Iron Ball 400
TP6880-* *-RCITG TP6880R-RCI TG Rubber / Cast Iron Roller 225
2(50) 03
PCITG PCITG | 8(203) PU/Cast Iron (#003) ' 400 | 248 | 159
PCI (H) PCI (H) 23/8(60) PU /CastIron Ball 440
OPTION Overall 159x114
o1 A Hol )
(Rectangular Plate) ole Spacing 133 x86 to 125x62
Attaching Bolt Size M12
- ESHSOI* ¥ off YStAlE HSE oA FRFMIAIR.
OPTION
TLB DW
::hé
|
LA | |
] = !3 PSR =
| @ - )
=< =
Top Lock Brake Double Welded Forks
ENE) (YHET)

069



HEAVY
DUTY
CASTER

1P7000

SERIES

FEATURES

E x|
= 0o

Top Plate: 10.0t 7R Steel

Yoke: 6.0t Steel

Swivel: & 7/16" & G} 5/16" Steel Ball
Swivel center Pin: 3/4" Bolt & Nut
Shaft: 1/2" (M12) Bolt & Nut

SERIES

WHEEL OPTION

SIZE

070



MODEL
DESCRIPTIONS

TP7040-* *-RCITG

Inch(mm) | Inch(mm)

TP7040R-RCITG Rubber / Cast Iron 160
4(102) 143 87
PCITG PCITG PU / Cast Iron 320
TP7050-* *-RCITG =~ TP7050R-RCITG Rubber / Cast Iron 170
5(127) 165 110
PCITG PCITG PU/ CastlIron Roller 360
2(50) #003
TP7060-**RCITG ~ TP7060R-RCITG Rubber/Castiron | #003) | qg5
6(152) 191 133
PCITG PCITG PU/CastlIron 360
TP7080-* *-RCITG =~ TP7080R-RCITG Rubber / Cast Iron 225
8(203) 257 159
PCITG PCITG PU / Cast Iron 400
OPTION Overall 159x 114 x 10t
A le Spaci
01 (Rectangular Plate) Hole Spacing 134 x86 to 126 x 62
Attaching Bolt Size M12
- EZHS O * ¥ of YIS HEE HojM FRSHIAIL.
OPTION

DW

Wheel Brake

Double Welded Forks
(¥HEr)

071



HEAVY
DUTY
CASTER

TP71 OO/7200KP|_(LHOE:|) e x.;_e,aﬁmvﬂ-w
SERIES R — :

FEATURES

E x|
= 0o

Top Plate: 10.0t 7R Steel

Yoke: 9.0t Steel

Swivel: & 7/16" & G} 5/16" Steel Ball
Swivel center Pin: 3/4" Bolt & Nut
Shaft: M20 Bolt & Nut

SERIES
WHEEL OPTION
|
SIZE 4" (102mm)
6" (152mm)
8" (203mm)




MODEL
DESCRIPTIONS

TP7140-* *-PCITG | TP7140R-PCITG 4(102) | 23/4(70) 650 143 87
TP7160-* *-PCITG  TP7160R-PCITG 6(152) PU/ Cast Iron 670 191 133
TP7180-* *-PCITG  TP7180R-PCITG 8(203) 720 257 159
Ball
TP7240-* *-KPL-PCI(G) TP7240R-KPL-PCI(G) = 4(102) | 21/2(64) 1,000 165 35
TP7260-* *-KPL-PCI(G)  TP7260R-KPL-PCI(G) | 6(152) PU /CastIron 1,200 190 35
TP7280-* *-KPL-PCI(G)  TP7280R-KPL-PCI(G) | 8(203) 1,500 257 525
OPTION Overall 159x 114 x 10t
aAE Hole Spacing 134 x86 to 126 x 62
ot (Rectangular Plate) ole >pading X o X
Attaching Bolt Size M12
- ESHSO[* ¥ off YotAlE HSE oM FRSHIAIR.
OPTION

Wheel Brake

Four Position Swivel Lock
(314%)

073



HEAVY
DUTY
CASTER

TP7200

SERIES

FEATURES

E x|
= 0o

Top Plate: 10.0t 7R Steel
Yoke: 9.0t Steel

Swivel: & 1/2" & 5} 5/16" Steel Ball
Swivel center Pin: 3/4" Bolt & Nut
Shaft: M20 Bolt & Nut

SERIES

WHEEL OPTION

PCI

SIZE 8" (203mm)
10" (254mm)
12" (305mm)

074



MODEL
DESCRIPTIONS @& @
-

Inch(mm) | Inch(mm)

TP7280-**-PCITG ~ TP7280R-PCITG 8(203) PU/Castlron 59
TP7210-**-PCITG | TP7210R-PCITG | 10(254) | 2'/2(64) PU/ Cast Iron Ball 990 302 192
TP7212-**-PCITG = TP7212R-PCITG | 12(305) PU/ CastIron 1,100 353 225

OPTION Overall 184x134x 10t
Az |
1 .
0 (Rectangular Plate) Hole Spacing 156 x 105 to 133x 86
Attaching Bolt Size M12

L ESHE0| * * 0f U= HSES Lo F25HINS.

OPTION

WB PSL-4

Four Position Swivel Lock

Wheel Brake (81x139)

075



HEAVY
DUTY
CASTER

1P7300

SERIES

FEATURES

E x|
= 0o

Top Plate: 10.0t 7R Steel
Yoke: 9.0t Steel

Swivel: A 1/2" & 5 5/16" Steel Bal
Swivel center Pin: 3/4" Bolt & Nut
Shaft: M20 Bolt & Nut

H
=
41

02 o
T o

H o

I o I oo
H1 OH O

Rl
=

0z Ho ofl

SERIES

=
-
_-
=
=
=
=
=
=
=
=
=
-
= .
-5
-y
r

WHEEL OPTION

SIZE (80mm)
(100mm)




MODEL
DESCRIPTIONS

TP7332-**-MC TP7332R-MC 80
TP7342-* *-MC TP7342R-MC 100
TP7340-* *-MC - 100

800 120 80

47
MC Nylon Ball 900 140 90
48 600 140 90

OPTION Overall 100x 85
BAE le Spacing 90 x 80
ol (Rectangular Plate) Hole Spacing x
Attaching Bolt Size M16 x 85L
LIAFS
21 (Threaded Stem) TM32-4 or M36 x 4.0P(115 Hex £15mm)
L B2HE0|** of YAl HES ojM ZRSHIAIR.

OPTION

077



HEAVY
DUTY
CASTER

1P7600

SERIES

FEATURES

E x|
= o

Top Plate: 11.0t E7I=X Steel

Yoke: 9.0t Steel

Swivel: #51117 Thrust / #30206 Taper Roller Bearting
Shaft: M24 Bolt & Nut

TDIType urethane

2=
25 syseuT
53y 2ui7

D5 71 B
SERIES

WHEEL OPTION

SIZE 6" (152mm) SIZE 6" (152mm)
8" (203mm) 8" (203mm)

078



MODEL

DESCRIPTIONS _E'f_

Inch(mm) | Inch(mm)

TP7660-* *-PAL TP7660R-PAL 6(152) | 2.5(65)

1,500 225 122
TP7680-* *-PAL TP7680R-PAL 8(200) | 2.5(65) Polyurethane / 2,000 275 160
) Ball
TP7660-* *-PALTWIN . 6(152) = 65x2 Alumiunm 2,000 225 150
TP7680-* *-PALTWIN - 8(200) 65x2 3,000 275 170
OPTION Overall 175x140x 11t
By .
01 (Top Plate) Hole Spacing 148x 111 to 132x99
Attaching Bolt Size M12 (1/2")
- Z2H50| * * of YolMl HSE HOIM RN,
OPTION

Wheel Brake

079



SPECIAL
CASTERS




*3
,p‘l
| nggr
—

E+381E Agld 7iA
. « budiah



SPECIAL
CASTER

1P8000

SERIES

FEATURES

E x|
o
Top Plate: 2.6t Steel
Yoke: 2.3t Steel
Swivel: A 1/4" & 5t 3/16" Steel Ball

Swivel center Pin: @11.0
Shaft: 5/16" (M8)Bolt & Nut

2r
ojofe
2E 712t

S22 0|2 Jsks

SERIES

WHEEL OPTION

SIZE

112" (38mm)

SIZE

112" (38mm)

082



MODEL
DESCRIPTIONS

» Sigle Wheel Inch(mm)

TP8020-01-HDP 2(50) 11/16(43) Heavy Duty Plastic

» Twin Wheel

@fli

TP8015-* *-NYL

11/2(38) 25/32 (20)
PLY Polyurethane
TP8022-* *-HR Hard Rubber
2(50) 3/4(19)
MIR Rubber / Plastic

STEM HHZIE
OPTION Inch(m/m)

11/2(40) 13 2/ S4(Grip Ring Stem)
mots
1 oo
11/238) ol (Top Plate)
01
By
(Top Plate)
2(50)
02
1 2/ S4(Grip Ring Stem)
21 LtAFS(Threaded Stem)

- ERHSO|** of RstAl= HSE LoM FESHIAIR.

Plain 90
100
60
Plain
90
65

7 2

M/m
@11 x28mm
Overall 95x70
Hole Spacing 75 x 40
Attaching Bolt Size M6 (1/4")
Overall 95x70
Hole Spacing 75 x 40
Attaching Bolt Size M6 (1/4")
Overall 65x48
Hole Spacing 54 x 24
Attaching Bolt Size M6 (1/4")
@11 x38mm
1/2"x 1311 x 38mm

OPTION

AC BO

Antique Copper Plating Black Oxide

083



Top Plate: 4.0t Steel

Yoke: 3.2t Steel

Swivel: & 5/16" & Gt 7/32" Steel Ball
Swivel center Pin: @12.7

Shaft: 3/8" (M10) Bolt & Nut

3" (76mm)
4" (102mm)




MODEL
DESCRIPTIONS @ _E.f_ @

Inch(mm) Inch(mm)

TP8030-* *-HPB-SLB 3(76) 250 103 59
17/8(48) Heavy Duty Plastic Ball
TP8040-* *-HPB-SLB 4(102) 300 130 78
OPTION Overall 105x 80
03 Hole Spacing 86 x 61
Hos Attaching Bolt Size M8 (5/16")
(Top Plate) Overall 90x 90
05 Hole Spacing 70x 70
Attaching Bolt Size M8 (5/16")
L BSH50| ** of Yot HSS HOIM 2R
OPTION

CR

Chrome Plating

085



SPECIAL
CASTER

1P8200

SERIES

FEATURES

E x|
= 0o

Top Plate: 2.6t Steel

Yoke: 2.3t Steel

Swivel: A 1/4" & 5t 3/16" Steel Ball
Swivel center Pin: @11.0

Shaft: 5/16" (M8)Bolt & Nut

H

Of
0l

N

OR OH 0Z ofo
00 ool 3t

=]

&

m

Y
o
=)
I HO
Ho rE
E N

7171

r

SERIES

©

WHEEL OPTION

SIZE 3" (76mm) SIZE

212" (64mm)

SIZE

3" (76mm)

086



MODEL

DESCRIPTIONS © | & @ n
-

Inch(mm) Inch(mm)

TP8225-* *-HRB TG 21/2(64) 15/16(33) Hard Rubber 82 58
TP8230-* *-HRB TG Hard Rubber 75
HPBTG 3(76) 15/16 (33) Heavy Duty Plastic o 110 96 67
PLYTG Polyurethane 100

OPTION Overall 95x70
HAE Hole Spacing 75 x 44
ol (Rectangular Plate) 0'€ >pacing *
Attaching Bolt Size M8 (5/16")
Overall 104 x85x 56
03 AtctalE le Spaci
(Trapezoid Plate) Hole Spacing 88 x 70 x 40
Attaching Bolt Size M8 (5/16")
Overall 111x77
04 OERE ZAl0lk
(Diamond Plate) Hole Spacing &40l 89
Attaching Bolt Size M10 (3/s")
- BEHSO o HlotAlE HEE oM FESHIAIR,
OPTION

087



SPECIAL
CASTER

1P8400

SERIES

FEATURES

E X|
(=

Top Plate: 3.0t Steel

Yoke: 2.6t Steel

Swivel: #620477-2RS Precison Ball Bearing
Swivel center Pin: ©20.0

Shaft: 3/8"(M10) Bolt & Nut

£

AMNTE Xt L AR (7|
AB7I

EUCiFSIN =N |

SERIES

WHEEL OPTION

SIZE " (152mm)

" (203mm)

o O




MODEL
DESCRIPTIONS @ _E.f_ @

Inch(mm) Inch(mm)

TP8460-* *-MIR TG 6(152) 110 191
Ball
11/4(32) Rubber / Plastic
(#6000zz)

TP8480-* *-MIRTG 8(203) 120 244
STEM Hs 55 T Zm/m)
OPTION . e o

(Threaded Stem) /8" x 111l x 25mm
31 @25 x 57mm, @8 x 2 Hole

253
(Round Plain Stem)
33 @28.6 x 57mm, @8 x 2 Hole

L ESHEO| o] YA HES LN FRFHINS.

OPTION

Swivel & Wheel Brake

(Single Lock) Chrome Plating

089



SPECIAL
CASTER

1P8403

SERIES

FEATURES

E X|
©

Top Plate: 3.0t Steel

Yoke: 2.6t Steel

Swivel: #620377-2RS Precison Ball Bearing
Swivel center Pin: @15.0

Shaft: 5/16" (M8) Bolt & Nut

2
olz7|7|
Hx217]

SERIES

WHEEL OPTION

SIZE 4" (102mm) SIZE 4" (102mm)
5" (127mm) 5" (127mm)

090



MODEL
DESCRIPTIONS @ i'.i @

Inch(mm) Inch(mm)

TP8433-* *-MIRTG Rubber / Plastic 118 79

TP8443-* *-MIRTG 4(102) Rubber / Plastic 70 145 92
Ball
11/4(32)

(#608)
5(127) TSR/ Plastic 90 171 103

TP8453-* *-MIRTG

TSRTG

OPTION Overall 92x64

01 Hole Spacing 75 x 45

Attaching Bolt Size M8 (5/16")

Overall 94 x 64
EAZEY .
02 Hole Spacing 75 x45 to 80 x50

(Rectangular Plate)
Attaching Bolt Size M8 (5/16")

Overall 70x95

07 Hole Spacing 70x52 to 74 x45

Attaching Bolt Size M8 (5/16")

23 LAY 5/8"x 11 x 25mm HHAE] F0I(m/m)
< 3"(76) 4'(102) 5'(127)
(Threaded Stem)
25 M12 x 1.75P x 25mm 18 s -

L E2HE0 * * 0f Ut WSS Lol F25HIAS.

OPTION

SWB DUL

Swivel & Wheel Brake Direction & SWB
(Single Lock) (Dual Lock)

091



SPECIAL
CASTER

1P8404

SERIES

FEATURES

E X|
(=

Top Plate: 3.0t Steel
Yoke: 2.6t Steel

Swivel: #620377-2RS Precison Ball Bearing

Swivel center Pin: @15.0
Shaft: 5/16" (M8) Bolt & Nut
Plastic cover

8=
olz7|7]
Hx12171

SERIES

WHEEL OPTION

SIZE " (102mm)

" (127mm)

(S,

SIZE

4"
5

(102mm)
(127mm)

092




MODEL
DESCRIPTIONS @ i'.i @

Inch(mm) Inch(mm)

TP8444-* *-MIR 4(102) Rubber / Plastic 145 92
TP8454-* *-MIR 11/4(32) Rubber / Plastic (#BGaOIIS)
5(127) 90 171 103
TSR TSR/ Plastic
TP8464-* *-TSR 6(150) 19/16 (40) TSR/ Aluminium (#g(a)go) 150 196 121

OPTION Overall 92x64

01 Hole Spacing 75 x 45

Attaching Bolt Size M8 (5/16")

v Overall 94x64

02 (Rectangular Plate) Hole Spacing 75x45 to 80x 50
Attaching Bolt Size M8 (5/16")

Overall 70x95

07 Hole Spacing 70x52 to 74 x45

Attaching Bolt Size M8 (5/16")

23 e 5/8"x 11 x 25mm PHAES ZO0|(m/m)
- 4"(102) 5"(127) 6"(150)
(Threaded Stem)
25 M12 x 1.75P x 25mm 145 171 196

L E2HE0 * * 0f Ut WSS Lol F25HIAS.

OPTION

SWB DUL

Swivel & Wheel Brake Direction & SWB
(Single Lock) (Dual Lock)

093



SPECIAL
CASTER

1P8600

SERIES

FEATURES

E X|
(=]

Top Plate: 3.0t Steel

Yoke: 2.6t Steel

Swivel: A 1/4" & 5} 7/32" Steel Ball
Swivel center Pin: @15.0

Shaft: 5/16" (M8) Bolt & Nut

25
o817
X217
ZiHl0f

SERIES

©

WHEEL OPTION

SIZE 5" (127mm) SIZE

5" (127mm)

094




woDEL
DESCRIPTIONS @ .E.f. @
e

TP8650-* *-SR Soft Rubber Plain
5(127) 11/4(32) 168 107
HPU H.P.U / Plastic Ball 80

OPTION 00 Stemless @12 Hole, Attaching Bolt Size: M12
Overall 92 x64
aAzE Hole Spacing 75 x 45

ol (Rectangular Plate) ole Spacing X
Attaching Bolt Size M8 (5/16")

1 213 @11 x38mm

12 (Grip Ring Stem) @22 x 68mm

21 /2" x 1311 x 38mm

23 LiAE 5/8"x 11111 x 25mm

(Threaded Stem)

25 M12 x 1.75P x 25mm

31 AT @22 x5Tmm

33 (Round Plain Stem) @20 x 51Tmm(W/O Hole)

- BERHSO** of RstAlE HSE HojM FESHIAIR.

OPTION

Swivel & Wheel Brake

(Single Lock) Chrome Plating

095



SPECIAL
CASTER

1P8700

SERIES

FEATURES

E X|
(=]

Top Plate: 3.0t Steel

Yoke: 2.6t Steel

Swivel: A 1/4" & 5} 7/32" Steel Ball
Swivel center Pin: @15.0

Shaft: 5/16" (M8) Bolt & Nut

g

9|lZ71|7|
T |7

SERIES

WHEEL OPTION

096



MODEL

DESCRIPTIONS
TP8730-* *-MIRTG Rubber / Plastic 50
3(76) 116 82
HPU H.PU / Plastic 56
TP8740-* *-MIRTG | TP8740R-* *-MIRTG Rubber / Plastic 70
4(102) 141 20
HPU HPU H.PU / Plastic 75
11/4(32) Ball
TP8750-* *-MIRTG | TP8750R-* *-MIRTG Rubber / Plastic 920
MRCTG MRCTG | 5(127) Rubber / Plastic 90 164 92
HPU HPU H.PU / Plastic 80
TP8760-* *-MIRTG 6(152) Rubber / Plastic 110 194 126
OPTION Overall 92x64
A Hole Spacing 75 x 45
ol (Rectangular Plate) ole >pacing %
Attaching Bolt Size M8 (5/16")
21 /2" x 1311 x 38mm FHAE =0|(m/m)
23 5/8" x 1111 x 25mm
LIAFS 3"(76) 4"(102) 5"(127) 6"(152)
o 5 n
24 (Threaded Stem) /8" x 1111 x 16mm
25 M12 x 1.75P x 25mm
122 148 171 201
26 5/8" x 1111 x 40mm
31 Yz @25 x 57mm, @8 x 2 Hole (TP87600{21XK)
33 (Round Plain Stem) @28.6 x 57mm, @8 x 2 Hole (TP87600112t=(S)
- ESHSOI* ¥ off YStAlE HSE HOA FRFMIAIR.
OPTION
SWB CR

Swivel & Wheel Brake

(Single Lock) Chrome Plating

097



SPECIAL
CASTER

1P8850

SERIES

FEATURES
£3

Threaded Stem: M16 x 2.0P x 25mm
Body: Nylon + Glass Flber

Swivel: #6204zz Ball Bearing

Shaft: M12 Bolt

2c

9lZ 77|
X717

MODEL
DESCRIPTIONS

TP8850-2A-PLY-SWB

STEM
OPTION

098

@ % O

5"(125)

13/32(18)

T

TPU / Plastic

Ball

Z4(m/m)

M16 x 2.0P x 25mm

105

176

102



SPECIAL
CASTER

TP8851

SERIES

FEATURES

E x|
= 0o

Round Plain Stem: @32, SW11
Body: Nylon

Swivel: #6204zz Ball Bearing
Shaft: M12 Bolt

g

9|lZ71|7|
TXE7 171

MODEL
DESCRIPTIONS

TP8851-31-PLY - 5"(125) |35/32(80) Nylon / Rubber Ball 120 150 1025

OPTION . .
I —
L Z
9| x5
31 s
(Round Plain Stem) \TJ;
- T
X M6
Swivel & Wheel Brake(Total Lock) i ‘é/
o
|

Direction Lock & SWB(Dual Lock)

- BEHSO T of HstAl= HSE 0N FESHIAIR.

099



SPECIAL
CASTER

1P9300

SERIES

FEATURES

E X|
(=]

Top Plate: 4.0t Steel

Yoke: 3.0t Steel

Swivel: & 3/16" & G} 5/32" Steel Ball
Swivel center Pin: @18.0

Shaft: 5/16" (M8) Bolt & Nut

Leveling &4XI12

2

St717]

AlgeH|, Mg
S22 0|2 Jsts

SERIES

WHEEL OPTION

100



MODEL
DESCRIPTIONS

k A

Inch(mm)

O

TP9320-* *-NYL 113/16 (46) 11/16 (27) 100 250 70 61
Nylon Plain
TP9330-* *-NYL 21/2(63) 19/64(29) 150 | 500 102 78
STEM M3 5% T ZAm/m)
OPTION 00 Stemless M12 x 1.75P Tap Depth 15
Overall 73x73
TP9320 SN Hol .
(Square Plate) ole Spacing 58 x 58
Attaching Bolt Size M6 (1/4")
00 Stemless M12 x 1.75P Tap Depth 20
Overall 90x90
TP9330 HAIZHS :
(Square Plate) Hole Spacing 70x 70
Attaching Bolt Size M8 (5/16")
- ZEHSO o HlotAlE HEE oM FESHIAIR,
OPTION

CR

Chrome Plating

101



SPECIAL
CASTER

1P9400

SERIES

FEATURES

E X|
©

Yoke: 3.0t Steel

Swivel: #6204ZZ Precison Ball Bearing
Swivel center Pin: @20.0

Shaft: 3/8"(M10) Bolt & Nut

Plastic Cover

0% 0o
H

rio
(i)
oA
0

SERIES

L

WHEEL OPTION

SIZE 6" (152mm)




MODEL
DESCRIPTIONS @ i'.i @

Inch(mm) Inch(mm)

TP9461-31-TSR 6(150) 11/4(32) TSR/ Nylon Ball 120 186 120

OPTION
228
z
2453
31
(Round Plain Stem) )
M8 o 8
IS
\Y\
W
o
- EEHSO* ¥ off FEtAlE HEE oM FEFHIAR,
OPTION

103



SPECIAL
CASTER

1P9500

SERIES

FEATURES

=3
Top Plate: 3.2t Steel

Yoke: 3.0t Steel

Swivel: & 7/32" & G} 3/16" Steel Ball
Swivel center Pin: 1/2" (M12) Bolt & Nut
Shaft: 5/16" (M8) Bolt & Nut

Leveling &4XI12

2

St717]

AlgeH|, Mg
S22 0|2 Jsts

SERIES

> =O0|2Z of

WHEEL OPTION

104



MODEL

DESCRIPTIONS OIE A @ B
I

Inch(mm) | Inch(mm)

TP9520-0*-MC - 50 33 MC Nyron Ball 300 78 43

STEM . #F 2 (wm)
OPTION o

r
foi
ob
u

Overall 82x82

A2
01 Hole Spacing 55x 55 to 65x 65
(Square Plate)

Attaching Bolt Size 9.5

- 2SSO * ¥ of #5tA

= HSE 20N FEHIAIR,

OPTION

LK

-8

Leveller Kit

105



SPECIAL
CASTER

Parking Caster

SERIES

FEATURES

x|
(=]

Yoke: ALDC12

Yoke BHXZ|: EX| =
Wheel: Nylon

Foot: Polyurethane

Am

8x
0| 28 7|59 T=H IHAH
SISER L0l A8 7ts

SERIES

WHEEL OPTION

106



I e )

Inch(mm) | Inch(mm) FH 4ea

TP40F TP40S 453 50 100 81.5
TP60F TP60S 50 24.5 250 500 92.5
TP8OF TP80S 63 30 Nyron 500 1,000 116.5
TP100F TP100S 72 32 750 1,500 134
TP120F TP120S 72 32 1,000 2,000 139.5
STEM HS s T Zm/m)
OPTION S Stemless M8
Overall 55x55
1740 A ,
F (Square Plate) Hole Spacing 42 x 42
Attaching Bolt Size 6.5mm
S Stemless M12
I 73x7
P60 - Overa j?>x 3
F (quare Plate) Hole Spacing 58 x 58
Attaching Bolt Size 6.7mm
S Stemless M12
Overall 90x90
LLCY A .
F (Square Plate) Hole Spacing 70x 70
Attaching Bolt Size 9.0mm
S Stemless M16
Overall 95x95
TP100 bSIN= | .
F (Square Plate) Hole Spacing 70x 70
Attaching Bolt Size 11.0mm
S Stemless M16
Overall 95x95
TP120 HAZtE Hole Spacing 70x 70
: (Square Plate) ol€ >pacing *
Attaching Bolt Size 11.0mm
- EEHSO* ¥ of| FStAIE HEE oM FESHIAIR,
OPTION

107



P —
——

ABSORBING -
CASTERS '

¥ (= e




\\

Q\Ij W9 S&y Ei kN _‘ ' F A

; \_" LR,

\ TP6805 S/A Series

\ TP6806 S/A Series
TP6868 S/A | 6887 Series
TP7160 S/A Series
TP7501 S/A Series




SHOCK-
ABSORBING
CASTER

TP6805 S/A

SERIES

FEATURES

E x|
= o

Top Plate: 6.0t Steel

Yoke: 6.0t Steel

Swivel: #620777-2RS Precison Ball Bearing
Swivel center Pin: @35.0

Shaft: 1/2" (M12) Bolt & Nut

2r
25 222 2ty
[SA S plE

SERIES
WHEEL OPTION
PCl
SIZE 6" (152mm)
8" (203mm)




MODEL
DESCRIPTIONS

TP6865-01-PCI-B/B-S/A(**) | TP6865R-01-PCI-B/B-S/A(**)|  6(152) 360 204 126
2(50) P.U/ CastIron Ball
TP6885-01-PCI-B/B-S/A(**) | TP6885R-01-PCI-B/B-S/A(**)|  8(203) 400 250 186
OPTION
Overall 159x 114
RN Hole Spacing 133x86 to 125 x 62
v (Rectangular Plate) olé >pacing B o :
Attaching Bolt Size M10 (3/s")
- E2HSO| * * 0f Yot HSE HolM T2,
OPTION

Wheel Brake

111



SHOCK-

ABSORBING

CASTER

TP6806 S/A

SERIES

FEATURES

E x|
= o

Top Plate: 6.0t Steel

Yoke: 6.0t Steel

Swivel: 2t 3/8" & G} 5/16" Steel Ball
Swivel center Pin: 3/4"Bolt & Nut
Shaft: 1/2" (M12) Bolt & Nut

2r
25 222 2ty
[SA S plE

SERIES

WHEEL OPTION

PCI

SIZE 6" (152mm)




MODEL
DESCRIPTIONS

TP6866-**-PCI-B/B-S/A(**) | TP6866R-PCI-B/B-S/A(*) | 6 (150) 360 200 125
2(50) P.U/ CastIron Ball
TP6886-**-PCI-B/B-S/A(**) | TP6886R-PCI-B/B-S/A() | 8 (203) 400 247 186
OPTION
Overall 159x114
LN Hole Spacing 133 x86 to 125 x 62
ol (Rectangular Plate) '€ spacing " N :
Attaching Bolt Size M10 (3/s")
- 2EHS* ¥ of Yot s HEE EoN FESHIAIR.
OPTION

Wheel Brake

113



SHOCK-
ABSORBING
CASTER

TP6868 S/A | 6887 S/A

SERIES

FEATURES

E x|
= o

Top Plate: 6.0t Steel

Yoke: 6.0t Steel

Swivel: 2t 3/8" & G} 5/16" Steel Ball
Swivel center Pin: 3/4"Bolt & Nut
Shaft: 1/2" (M12) Bolt & Nut

2r
25 222 2ty
[SA S plE

SERIES

WHEEL OPTION

PCI

SIZE 6" (152mm)




MODEL
DESCRIPTIONS

TP6868-**-PCI-B/B-S/A(**) | TP6868R-PCI-B/B-S/A(*™*) | 6 (150) 360 204 125
2(50) PU/CastlIron Ball
TP6887-**-PCI-B/B-S/A(**) | TP6887R-PCI-B/B-S/A(**) | 8 (203) 400 246 186
OPTION
Overall 159x 114
BB Hole Spaci 133x86 to 125x62
v (Rectangular Plate) '€ spacing B o :
Attaching Bolt Size M10 (3/s")
- E2HSOI* ¥ off YStAlE HSE HOM FRFHIAIRL.
OPTION

Wheel Brake

115



Top Plate: 10.0t @ZHX Steel

Yoke: 9.0t Steel

Swivel: & 7/16" & G} 5/16" Steel Ball
Swivel center Pin: 3/4"Bolt & Nut
Shaft: M20 Bolt & Nut

245 532 eum
TSR AlRIg TRlE
539 2ui7

6" (152mm)




O

®|3|T
| kg

Ball 670

P.U / Cast Iron

MODEL
DESCRIPTIONS

STEM
OPTION

TP7160-01-PCI-B/B-S/A(**)

-E.i
Inch(mm) Inch(mm)

6(152) 21/2(64)

Z4(m/m)

T

SPRING
OPTION

Overall 159x114
RN Hole Spacing 134 125x 62
01 (Rectangular Plate) ole Spacing 134 x86 to 125x 6!
Attaching Bolt Size M10 (3/s")
H 1
M T ZBm/m)
(A7)
Blue(BL) 216 10.8
RED @40 x @20 x 50mm 326 20
Brown(BR) 640 64
ZEHS** of Mot s HEE 20N FESHIAIR
ISE J0iM FE5HIAIR.

- SEHSO| B0l HotAls &

OPTION

Wheel Brake

117



SHOCK-
ABSORBING
CASTER

TP7501 5/A

SERIES

FEATURES

x|
o

Am

Top Plate: 12.0t Steel

Yoke: 9.0t Steel

Swivel: #51117 Thrust / #6205 Ball Bearing
Swivel center Pin: @32.0

Shaft: M20 Bolt & Nut

=¥

245 33 oo

RISAt Mg TielE

539 2817

SERIES

WHEEL OPTION
PClI

SIZE 6" (152mm)

8" (203mm)




MODEL
DESCRIPTIONS
TP7561-* *-PCI-S/A(**) | TP7561R-PCI-S/A(**) 6(152) 900 203 132
23/4(70) P.U / Cast Iron Ball
TP7581-* *-PCI-S/A(**) | TP7581R-PCI-S/A(**) 8(203) 1,100 260 184
OPTION
Overall 160x 120
AE Hole Spacing 130 x 84
ol (Rectangular Plate) ole Spacing X
Attaching Bolt Size M12 (1/2")
OPTION
RED @40 x @20 x 50mm 320 x 2ea = 640 ATA|S:120, AL Dea X E
- ESHSOI* ¥ off HlothlE HSE HoM FRSHIAIR.
- E2H50| 20| AstAls ASE B0l FEGHIALR.

OPTION



Load Cell
Caster

LoadCell Caster 2t?

LoadCell Caster 2| ZIEHU HES SYREH, S XS 7%
E+x H HEY £ 7ks ASAN| e HS

&3, NS oryE &= =W 0ls

7|E Edholl Z2=E MS STt 22] A2
290] TR ol MS Va7 RS Hxl W YIS0 YA
HIst0l AIBE 4 U= ME SF AAdYUUCE 7|E HES
£18 7t 27toll ¥l Load Cell Caster =
71&E Hrho| BEHE DB MBS + U HEB
IHAE YLict

Load Cell Caster 2| E&!

ot FAE R HES ST HSAS a2t opuzt,
FHAE 2| EEE Cell & 22|8k= LUCIH0IEE E610] BX|2| HiE
HElE Eheol B + U= S8 XE 715, 22U A ABNHY XS
A & Cradt galE # 5 s CPls A28 guch

2ic|#|olE

71E HIE £ 2 =2 FEE,
BIXPAPSE HSF QRIS 7RI 7S
Ext ol B ™ ChE Ao

Load Cell Caster= 2|2 W0l 210{ &xj2] 0|8 #|Z HEtx| §H0| 7hs#LIch
Exte sxf HISoM 2SBHE et FWOILL 2= 7|77 o H2 S24HS o
B3 7SS Sl HS S| 2H7t 42X UES TN, 2 W = MS HIE
H7|5h0] Ex} R ZHEAZ} 2| &elo| ZHsEICh

120



pHRI 7| £0| HEEI
High-technology Cart

pHR | (physical human-robot interaction)

J|=0lzt?

—HS L A0S 2RO AL El= 7|=EAM, 280t= Ate| =&
Ol E mpetstn F Xt HioFS K0Sl IHH R 2URC 2 E B AHR
ZHE SHL 210 2k 4 Q= J e L ch

+ 225 QlE — = 80oo
+ OFRS 98t X}= H3jj0|2
+ O] X| M|O]E2 2 EQF XIDFRITH A| A

DESIGN @

AWARD

2018 reddot award 2018
winner

AIRCART X[ &

1050 x 440 x 1130
4
SV S Kg 100
s Tt % 15
CEEE Watt 20
BHE{2| 8% Wh 216
= et AC(V) 220V
=X Al 2t Hour 4
AF 2 A 2t Hour 8
2= 6.5"(165mm)
Arext LED BATTERY ZHEHA|
INTERFACE BUTTON CALIBRATION &%

* K|DAE [ AGARFS HIE S| 2 HOlE 4 0D, 9 MU ST HLE ofoi3te J|FEOR Khy
oo 9 oh
Mo =2

g Sl = Il










OMNI

WHEEL
CASTERS

OMNI seres

KHr a7 AE

FEATURES

[0 K
b
ool
=4
~

AEX LR W2t Wheel =7 REI7KS

(518ats 371

T2 BALL BEARNG A2
KEY EIR) 812 A1 715(AGV)

AGV, RIEEZ], ZIH|0] 2817|701 AL

M10 AXLE ALS

MODEL
DESCRIPTIONS

124

E2{ Wheel2 HAI6h= EHY

N

Ball
OMNIWHEEL 2W 5"(125) 11/2" (40) 80 ~
(KEY)
P.U / Plastic
Ball
OMNI WHEEL 3W 5"(125) 11/2" (40) 120 ~
(KEY)




SOFT
RUBBER
WHEELS

S R SERIES

HENFH

FEATURES

x|
(=]

Z12 Coredf ¢HETF FE
NN ==

g4 15

A& 80(Shore A)
Non-marking 1% 22 7ts

oY Jm

fon

MODEL
DESCRIPTIONS

SERIES

TP3000
TP3600
TP4000
TP3000
TP3200
TP3600
TP4000 /5000
TP5200
TP5000 /5200
TP5200
TP3600 /3700
TP8100
TP8100
TP5200
TP5200
TP5000
TP5000
TP4000
TP3600
TP5200
TP5200
TP5000
TP5000

9

Inch(mm)

21/2"(20)

3"(76)

31/2"(89)

4"(102)

5"(127)

k i

"

Inch(mm) Inch(mm) Inch(mm)

13/16" (20)
1"(25)
116" (27)
13/26" (20)
15/26" (24)
1"(25)
11/4" (32
11/4" (32

75" (22) 174" (6)
13/16" (30) 5/16" (8)
134" (35) 516" (8)

75" (22) 14 (6)

1"(25) 1/4" (6)
13/16" (30) 5/16" (8)
196" (39) 3/8" (10)
17/16" (36) 3/8" (10)
19/15" (40) 3/8" (10)
17/16" (36) 5/16" (8)
13/16" (30) 5/16" (8)
196" (40) 5/16" (8)
19/16" (40) 3/8" (10)
17/16" (36) 3/8" (10)
196" (39) 3/8" (10)
196" (39) 3/8" (10)
19/16" (40) 3/8" (10)

1"(50) 7/16" (11)
13/16" (30) 5/16" (8)
17/16" (36) 3/8" (10)
19/16" (40) 3/8" (10)
196" (39) 3/8" (10)
19/16" (40) 3/8" (10)

Plain

Plain
Plain
Plain
Plain
Plain
Ball
Plain
Plain
Ball
Ball
Plain
Ball
Plain
Ball
Plain
Plain
Plain
Ball
Plain
Ball




HARD
RUBBER
WHEELS

H R SERIES

bl

FEATURES

AL HE
OnREC £S o2015
7

A= 80(Shore A)

- -
DESCRIPTIONS G @

Inch(mm) Inch(mm) Inch(mm) Inch(mm)

TP8000 3/4"(19) 7/8" (22) 5/16" (8 Plain 45
TP3000 13/16" (20) 7/8" (22) /4" (6 ) Plain 45
TP3600 212" (64) 1"(25) 13/16" (30) 5/16" (8) Plain 45
TP4000 11/16" (27) 13/8" (35) 5/16" (8) Plain 80
TP8200 15/16" (33) 19/16" (40) 5/16" (8) Ball 70
TP3000 13/16" (21) 7/8" (22) 1/4" (6) Plain 50
TP3200 15/16" (24) 1"(25) 1/4" (6) Plain 68
TP3600 3" (76) 1"(25) 13/16" (30) 5/16" (8) Plain 56
TP4000 /5000 11/4"(32) 196" (40) 3/8" (10) Plain 100
TP5200 11/4"(32) 17/16" (36) 3/8" (10) Plain 95
TP8200 15/16" (33) 19/16" (40) 5/16" (8) Ball 75
TP5200 31/2"(89) 11/4"(32) 17/16" (36) 3/8" (10) Plain 95
TP5200 11/4"(32) 17/16" (36) 3/8" (10) Plain 115
TP5200 11/4"(32) 196" (40) 3/8" (10) Ball 115
TP5000 4"(102) 11/4"(32) 196" (39) 3/8" (10) Plain 115
TP5000 11/4"(32) 196" (40) 3/8" (10) Ball 115
TP4000 11/4"(32) 2" (50) 716" (11) Plain 135
TP5200 11/4"(32) 17/16" (36) 3/" (10) Ball 115
TP5200 50127 11/4" (32) 19/16" (40) 3/8" (10) Plain 15
TP5000 11/4"(32) 196" (39) 3/8" (10) Plain 115
TP5000 11/4"(32) 196" (40) 3/8" (10) Ball 115



POLYURETHANE TREAD
/ PLASTIC CENTER

WHEELS
PLY series

=0/ e

FEATURES

Z2IAE] Core)

e, LHAlgol Zet MiZ
=tl|o{dol| 2fet Rt 3T
Tread Guard 28 7ts

A& 95(Shore A)

LIS M ks

@ & | ¢ | @
- -
DESCRIPTIONS <ERIES kA
TP4000 1174 (32) 96" (14) 5/5" (16) 3h6" (5) Plain 14
) 14" (6) _
TP3000 /4000 / 8000 11/2"(38) 23/3," (18) 13/16" (21) 576" (8) Plain 30
TP3000 13/16" (20) 775" (22) 35
2" (50) 14" (6) Plain
TP3200 /4000 7/8" (23) 1"(25) 40
TP3600 1" (25) 13/16" (30) Ball 60
211" (63) 5he" (8)
TP4000 116" (27) 13/8" (35) Plain 45
TP3000 13/16" (20) 778" (22) 14" (6) Plain 45
TP4000 /5000 / 5200 3" (76) 114" 32) 196" (40) 36" (10) Ball 100
TP8200 15/16" (33) 116" (40) 5he" (8) Ball 100
TP5000 /5200 /8100 4"(102) 11/4" (32) 196" (40) e’ (8) Ball 195
! ' 35" (10) Plain 85
TP5000/5200/8100 5" (127) 11/4" (32) 196" (40) e’ (8) Bl 1
¢ 0 3/g" (10) Plain 95

127



RUBBERTREAD
PLASTIC CENTER
WHEELS

M | R SERIES

A=Wl ey

FEATURES

m

X
(=]

2R2E 1802 Ao HiFo| X=0| M7 |X| ¥=2
A5 PP Coe 22 S5 24
Tread®t Core?| 240F T

Ball Bearing Af8O2 F1E4 24

Do Bt QeS| AN SA FF
He oA & 187 Mg

AEARE 75(Shore A)

TS5t Core A TS

am 1

N
il

MODEL

DESCRIPTIONS
TP3000 ; Sg; 13/16" (21) 7/8" (23) 1/4" (6) Plain +
TP5000 3'(76) 14 32) 11/2"(38) 3/8" (10) Annular 70
TP8700 11/4"(32) 5/16" (8) Ball 50
TP3600 3"(76) 1" (25) 13/16" (30) 5/16" (8) Plain 55
TP5200 31/2"(89) 11/4"(32) 11/2"(38) 3/g" (10) Annular 100
TP3600 /3700 1"(25) 13/16" (30) 5/16" (8) Plain 60
TP5000/ 5200 4 (102) 11/4"(32) 11/2"(38) 3/g" (10) Annular 100
TP8700 11/4"(32) 11/4"(32) 5/16" (8) Plain 70
TP6600 / 6800 2" (50) 23/16" (56) 13/16" (30) * 130
TP3600 1"(25) 13/16" (30) 5/16" (8) Plain 60
TP5000 /5200 5 (127) 14" (32) 11/2" (38) 3/8" (10) Annular 110
TP8700 /8400 11/4"(32) 11/4"(32) 5/16" (8) Ball 90
TP6600 / 6800 2" (50) 23/16" (56) 13/16" (30) * 150
TP8700 6" (127) 11/4"(32) 11/4"(32) 3/g" (10) Ball 110
TP6600 / 6800 2" (50) 23/16" (56) 13/16" (30) * 180
TP8400 8" (203) 11/4"(32) 11/4"(32) 3/g" (10) Ball 120
TP6600 / 6800 2" (50) 23/16" (56) 13/16" (30) * 220

128



RUBBERTREAD
CASTIRON CENTER
WHEELS

RC' SERIES

=HH

FEATURES

E x|

=/ O

HEuF 7Y

EESH 32 Corelf| 248 &I
OAS}

Higte! B3 7S
BEAIRF 70~80(Chore A)

Roller HI01200] ol8t 2015t 3

#620572 7724 Hl0f2) A2 FIZ(TP7100 / 7200 M21)

4
4
I

MODEL
DESCRIPTIONS SERIES f'i "E.“' @

Inch(mm) Inch(mm) Inch(mm) Inch(mm)

TP6200 11/2"(38) 15/8" (41) 1/2"(13) Roller 110
TP6600 / 6800 / 7000 4(102) 2"(50) 23/16" (56) 12" (13) Roller 160
TP6600 2"(50) 23/16" (56) 5/8" (17) Ball 160
TP7100 21/2" (64) 23/4"(70) 1"(25) Ball 210
TP6200 11/2"(38) 15/8" (41) 1/2"(13) Roller 130
TP6600 / 6800 / 7000 5"(127) 2"(50) 23/16" (56) 1/2"(13) Roller 170
TP6600 2"(50) 23/16" (56) 5/8" (17) Ball 170
TP6200 11/2"(38) 15/8" (41) 1/2"(13) Roller 130
TP6600 / 6800 / 7000 . 2"(50) 23/16" (56) 12" (13) Roller 185
TP6600 / 6800 / 7000 6'(152) 2"(50) 23/16" (56) 5/8" (17) Ball 185
TP7100/7200 21/2" (64) 23/4"(70) 1"(25) Ball 220
TP6600 / 6800 / 7000 2"(50) 23/16" (56) /2" (13) Roller 225

8"(203)
TP6600 / 6800 / 7000 2"(50) 23/16" (56) 5/8" (17) Ball 225



POLYURETHANE TREAD
CASTIRON CENTER
WHEELS

PCl SERIES

=0 E =201

FEATURES

Am

x|
(=]

LR, LiAlo] 46t Xl
Z= Coredf| 2ot A
Roller H[01oi] 2lgt Rt 154

#62057z 4 H|01d A ME(TP7100 / 7200 ME|=)
A=A 85~95(Shore A)

Bl

MODEL
DESCRIPTIONS @ e @

Inch(mm) Inch(mm) Inch(mm) Inch(mm)

TP6200 11/2"(38) 15/8" (41) /2" (13) Roller 220
TP6600 / 6800/ 7000 4"(102) 2" (50) 23/16" (56) 12" (13) Roller 320
TP7100 21/2" (64) 23/4"(70) 1"(25) Ball 650
TP6200 11/2"(38) 15/8" (41) /2" (13) Roller 250
TP6600 / 6800 / 7000 5"(127) 2" (50) 23/16" (56) 12" (13) Roller 360
TP6600 / 6800/ 7000 2" (50) 23/16" (56) 5/8" (17) Ball 360
TP6200 11/2"(38) 15/8" (41) /2" (13) Roller 250
TP6600 / 6800 / 7000 2" (50) 23/16" (56) /2" (13) Roller 360
TP6600 / 6800 / 7000 6" (152) 2" (50) 23/16" (56) 5/8" (17) Ball 360
TP6800(H) 23/8" (60) 23/8" (60) 51/64" (20) Ball 520
TP7100 /7200 21/2" (64) 23/4"(70) 1"(25) Ball 670
TP7500 23/4"(70) 215/16" (75) 1"(25) Ball 900
TP6600 / 6800 / 7000 2" (50) 23/16" (56) /2" (13) Roller 400
TP6600 / 6800 / 7000 8" (203) 2" (50) 23/16" (56) 5/8" (17) Ball 400
TP7100 /7200 21/2" (64) 23/4"(70) 1"(25) Ball 720
TP7500 23/4"(70) 215/16" (75) 1"(25) Ball 1,100
TP7200 10" (254) 21/2" (64) 23/4"(70) 1"(25) Ball 990
TP7200 12" (305) 21/2" (64) 23/4"(70) 1"(25) Ball 1,100

130



STEEL

DISC CENTER

WHEELS

RSD/PSD - seres

ClA=e HiF

FEATURES

£3

Cauking0il 2fet Z=et Disc Core
BAYXIE OIA=F

=toE A

AMDS 2 LE 2

=R Wheel 57 1S(CSR, 5")
ZE(RSD) 60~70(Shore A)

A= (PSD) 85~95(Shore A)

MODEL

DESCRIPTIONS SERIES

@ | *

g

Inch(mm) Inch(mm) Inch(mm) Inch(mm)

TP8500 4"(102) 11/4"(32) 13/8" (35) 5/16" (8)
TP8500 5"(127) 11/4"(32) 13/8" (35) 5/16" (8)
TP6000

6"(152) 13/4" (45) 21/4"(56) 3/4" (20)
TP6000(PSD)
TP6061

6"(152) 137/64" (40) 2"(50) 12" (12)
TP6061(PSD)

Ball

100

135
180
360
160

250

131




STEEL /

ALUMINUM

WHEELS

STL/AL seres

F=H7 / EF0I=E8E

FEATURES

MODEL
DESCRIPTIONS

132

Iz CHolPHAE M

g

Inch(mm) Inch(mm) Inch(mm) Inch(mm)

1/4" (6)

TP4020 AL 2"(50) 7/8" (22) 1"(26)

TP4040 STL 11/2"(38) 2"(50) 716" (11)
4"(102)

TP5040 STL 11/4"(32) 19/16" (40) 3/8" (10)

Plain

135

135




HEAVY
DUTY PLASTIC
WHEELS

H D P SERIES

S(E)oIEE SAE

FEATURES

LR, LhAlo] et B
I ZHAR BE
Non—marking Bt

MODEL
- -
o [N 3

Inch(mm) Inch(mm) Inch(mm) Inch(mm)

TP8020 116" ( 17/8" (47) 15/16" (8)

2"(50)
TP8022 3/4"(19) /8" (22) 15/16" (8) 90
TP4000/ 5000/ 5200 3"(76) 11/4"(32) 19/16" (39) 3/8" (10) Plain 124
TP5000 4"(102) 11/2"(38) 15/8" (41) 3/8" (10) 135

TP5000 5"(127) 11/2"(38) 15/8" (41) 3/8" (10) 135



LIGHT DUTY

PLASTIC
WHEELS

LDP/NYL  series

HEEI5E ZetAe

FEATURES

x|
(=

yion 2 PP AISHIZ

ot B2i0l= 71

PED ARl B
LR, LiAlo] 48t i
Non—marking M=

m

=

O\.l

N

MODEL
DESCRIPTIONS

TP4000

TP3000 / 4000

TP3000

TP4000

TP4000

TP3200

TP3600

TP4000/ 5000 /5200

TP3600

TP5000

TP8000

916" (14)

23/3," (18)

13/16" (20)

1"(25)

116" (27)

15/16" (24)

1"(25)

11/4"(32)

1"(25)

11/4"(32)

53/64" (21)

5/8" (16)

13/16" (21)

7/8"(22)

1"(26)

13/8" (36)

1"(25)

13/16" (30)

196" (39)

13/16" (30)

196" (39)

1"(25)

SERIES n . i @

Inch(mm) Inch(mm) Inch(mm) Inch(mm)

3/16" (5

1/4" (6)

1/4" (6)

1/4" (6)

5/16" (8)

1/4" (6)

5/16" (8)

3/8" (10)

5/16" (8)

3/8" (10)

9/32" (7)

80

55

65

95

80

110

50



HI-ELASTIC POLYURETHANE
PLASTIC CENTER
WHEELS

H P U SERIES

TEkY S| HF

FEATURES

53

DEHY B2|L2E HiFE PAS A

H SHolE ABCE et +E4#600022)
Aol Thojat 9l Ltk 24

CIxlel SEREES)

2

=9 o 07|

Al

SIIE 2 T[El MHE
[k 80~85(Shore A)

MODEL
DESCRIPTIONS SERIES
TP5000, 5200, 8100, 3 (39 5/16" (8)
8600, 8700 ! . 3/8" (10)
TP5000, 5200, 8100, 5/16" (8)
4" (102 1-1/4" (32 1-17/3"
8600, 8700 (102) /4" (32) /32" (39) 35" (10)
TP5000, 5200, 8100, 5/16" (8
5"(127) 1-1/4" (32) 1-17/32" (39) h'(8)

8600, 8700 3/8" (10)

Ball

Ball

Ball

56

75

80




H1E MEXH KA

2 HIEAME BR7I72 WESR MEslE 7 R SHIE MBYEL F
K2 810 ZHYSI{O0] D/ SN HYSR L2 1R B
SHaRE M oloHE - UK SiHSLICE

R [XILS MBR A2 ALSTIZHE HBMHBLICL 0l2i {2
T AETHEE B HSEIMM +RE HEN w2} oAl WAISI00) S, &
717t 2 HH0IL 7IEF HUT MSHAY YR0E BYHY FX F Bape|
F718@ 10 MR FUF 71800} BiLICH

FHAELR SEIS1 D LS| H0d, SLAIRI ALS A= SERO A Y St
51 TI317] 215100 B HFHYMO 2 QHESED ARY B E Fl2A ¢
27| Hi2h, 0[218 QiR HISA| E45|0{0F BiUCE

£ FASHEMN $88 7IERE MY 3 O3 S8 &1 G2 HAE AYE
QIR 0|22 of F2 HE AUE Histol & HIHTMY =& HB2
D0l HAE £ USH, FA| Yol FEE > Ut

<E>F31 A FAAY

0]

_

= _
= _

P ARSAHE A2 W 7| 2F ES1000} Huic
b EEERUAE AT U O EE AEI R SRS FICIR N 2S00k fiLich

H2g ey
2.1. 0 HIEY 24 ALBTHY

FAAER} HIFIE WU o R A7) JhsE R EE Wi

|2} 71, B i JIELH 27| SLHEE OIS0 FHSHI=® 317] HE
SLAEILICE o[2{8t WAHEE 2 MR0| EE SeRCHERIME Asio] £81 0
ST} A% KISEX] g2 2H0I0j0k RiLICH

FAAEE Ol2R2) W2 FOlM AIBE £ g
FHHBE 2w 7 2

YUEE: 4UIIE MFEE L

USE - FY, 2|B5IE 2

LYSE: 22 o1EE Bl 717 8

FAAE|2} HIF| 0N T2 ASTHEN W2l SABICH 37|12 3210 24
10| ALBE 5 U

b 02| EAE I el RS SAlEl0f0f fiLCE
> RACI0EIE Al SR 2T MBS 7I40F BLICE
bR DR FAERL I HEE HUE WolME 2HEUCH

@ P 2HYNLE = TR0 22 TR P20} ELICL

@ P OFYHAEE HIF|R0| O[S CRSI0] HH0| HER £4
SHOFLLICE TIROH 2 TY FHAEA RER AFHE W2 YUY
O ALSHHOF BILICE

b2 TSI AE2} DY AE|R BSOS LABCIN HEX|
FICI2T0 +RE METAN U= K ASH0} L(CL

PIHAE BHE ANYM ZREY FURER HASAHL A
HOlo} #iict.

Sl SRR O I AE MY
HEN F400] S 5 2ls A0 HISTINM ALSE fls Soid
HEE FHAENE AHZSHOF RILICEH

5C0[812t 30TOI4E) 2=04M AREH Mol 22| stk SRS Hols
Y22 HBIB0| A2817| W0 S311 HZE FHAEE ASHO} B,

DI = AHAENE HRE dillE RE FEDISYE AU ZAIIN0}RUC,




220ESEHAME

HEE BE AEY AP 5 HAEE nHH Ci2t ARESIR| M HPE Ol
Tauct
»IFCI20 2= HBEEL kASE SO SLBIBER
;l o 2 HioR ASHE e o

LAY " @ st

@ bﬁﬁ 20| US wAHL HE »HIFIM H2i# o] ERE0 &

TBNET
kU E B2o|32 HESH F @ FAAEISE LT ME STF A
LHE 2XY o EWE o (£)c) Kmh)

@ b EAEANM AT = 8E FAHAEIE LT EHAIZ G&S
E Z 0B2E T (X|cH 24120

23 0HBYs

[ MBS0l Galg 71ct200 7(Ef ARREHAMH 220 AFEEC2) UE R
THESZ Ha|E|K| HUCHH A0 it 2PARLE B2t H2oE 8
LiC}. ol BHRE ENTFE, KSTE, IS07EH0| B3E U

[ BT HESIE U2 HAHE M0 ARSI B FE Y MM
Al E 7HE = 2t

| 3% FHAE2| Fo| % 80l

0 | HY M AE (Swivel Caster)

O &MY 7262 2EE 7Y AE SH=0] sl HIFY LSS0 £
2|2 2AiZHolf-setlE BAEI7| 020 FHAE7 HFS Sl Eu|2| 0lF
Al WEEHERS FEsEA EUCh

24 0HEHY

FAE S AFEEHN m2kd REES2 o) MEES Hatol ok

e ETf BTN ChA| J2|A8 SS81a 0l§EF HAHEUCH

o Bl At HEYREE O EH0)EILCE

[ FHAE2] 7|58 HETIH 7| SHE YoT|s HEY RES S DI
of Eiuck

2. 5.0 32|28l RlA 212

HZ=E B maid HeY2e) X228 cléle HEEUSE F510 okd
o2 HEYE Y dHMI HZEUC

[ 2| SR EUAHS HE10 - HEE 22 ALEE0| ZRE 723

[ AVETHE 28 M EH B BT

FAE(2| 7lmE BEE] #8510 Ol2E AHLE BIEA| X0} #iLICE

- BIITHAZLE O] MIBHR(Z 1.0~2 6. 00 F=(51040} 5o B et g
EXRRE HEHE (2. 1. 0~2 6 08 27510 HEYUXA HEtsiolok
¥ 227} 2lgLch

[ SYEYRIEE 0] MIEZ 2 1. 0~2. 6 0l Fojadof ln) Wao mal
HEAZRE HEEHR (2.1.0~2 6. 0HF 27510 AHBRHA HEsIor g
LI =R

2.6.0 MEHEBL

0 3EY 742 (Rigid Caster)

O XFY ALE|2 REE L6 Bl R0 el =H22 o9 @ SX18
I FH2E2] gH0| @7t PE2M Hul 0|FAM YHH 0|F® B
Ol3tA gHUCt

=B

iv:}l
I_H
L EETA

» 2H(Plate.) - | RE17) HEl 7S

D E(Yoke) - SEIUIRE M XX HEEE IS
: HiFi(Wheel} - 3d|2| 0|58 ¥ 7RIS

4 PERAde & Nut) - SIS HIHE DHE HE IS

AN AE AL
h: A5 FH =0| (Tolal height)
p: EAOIE 37| (Plate Overal Size)
| - &t EE Y 71 (Bolt hole spacing siotted)
b: 54 BE 33 (Attaching bolt size)
a: 2EM (Difset)
r o TR (Swivel radius)

L

s RERM
1: GMlYoke] - Bu|H R&tsls 7|53 HUsH X(XEHE 715
2: v whesl - B2 0|58 #E 2 B7IS
3 oS Ade & Nut) - BH2 01T DEE HE s

A
D HEHEE (Wheel diameter)
B: HIFE (Width of wheasl)
d: &= (Bore / axe dameter)
n: HE 24 0] (Hub kenght)

137



H 4g JlsMY

41,008 BB 5E

£48 Zuj| Sa|s PAEE MEdiol /0] TS| NMBYL £7) R85
£ AIBSIE, 2|0 SAE JHAES| SUEE DI AHHSLIBE AL
T EB AL UYLE B S s LHAENSE T2fs010} Sk

A AE 2 B2 QIS B E1E Ak
S =W+A/n-1
= kgf / pcs

§ : HHES S8 (Safety Load Capacity, kgf)

W o B S| S8 (Weight of the Transport Equipment, kg)
A I S8HE (Weight of the Additional Load, kgf)

n o 4aEl A AE S8k (Number of Casters Attached, Pes)

[ 2 24042 R BRI AR ARESHE 28 HAI2 R

I FR2EN S E § 5 UE 2E FHS MSTUNME HBHE0 8
Sl 202 ALRE HEHRHOL RILICE

I QHEHESEN MU 2 HACHE M0 ABEICIH HEH U
MM A Ao E 71 E - RlEUch

4 2042 83

[

OutEoz MPo) e H2u s HES] oS, 2E2] ui=g] A2 M
o Hi7| 8 MEsls 20| FALICH

O J2iu A28 HE 48§ 802 0iSE 257 #idM 2gHde|
IEHIH & ALEEHE 20| FEUCKL T ASSE0] 247 B2 JISE O
ol XE=0] Slo| LESH0] FulE SE017|71 HECIH AR BIFE AR
Hlodok ook

O =220|32 HEHE RXGI7] #elM =M viFe] oA vlosio
OF §iLick R1o} B1] OHabA4:7} HIMS) OFiAS: RO} 5 Z0lE 2
0128 EHESI0IE ZAKINM HIF7H 0|2 E S BAN| waghc)
(1) DR == )

MIFWHEEL > SR, RC1 RSDWHEEL > LY, PCL PS0 WHEEL > HR, LEF, HOP, NYL WHEEL

Ry Y
O AS#H0| MBI H2), HIRIS =2 £= BE0| HOl sl 23
ME BH2| 240 HEER) D2|A FUSOR SH0| 4RO
O A HEL 2ULES ONERY IREISO2 BH2IS10 HESID
=)

138

O J2ut |4 7Ha8 HAMME AR Ao 2 TS =X 1AL
UW=MsE 71X 5l T2~ 2 HEE AR 2 B HER0) Eiuch

2 ud
O 220 AEEHE0 22 25U 4542 HE 220 BIMM ABeich
B2k YOS uiy e J57 S Tas D HEREY ZxE
Jd2A7 7= ® = R St

O 0|2 &2 Seept S &AM A AN H25l0d 2@ uiFie O
2 2F& MEM0E ELCH

[ 7| B2} BHEATE
0 7 B0Iu; R =HEI0] ALBahs EH0I2H die) S5 7t 2 =
Ei=|0] 30| Z2ch
o ﬁt?g 7183 EE S2I0 HE 5 UE viFc SHE TR

O FAEE H71E 220 = 22 3§ 28 £ 0f7)E 22y w2}
ekl R,
O )72 o] valH 2EeYE S E Fash guct

#AYEB:ABIIS C: AMBEIS

O 2 di2] 4EUHE Ests [ft BEHY A0 SAlet f2lst
0f ZAIZE 2HS = HINE ALBSH0F EUCEL



4.4, 07 A6 S5

FHAE7} EAE A M0 FEEIX] BUE A0 = AT TulM
BER 2| HL} Bl 4= 220 @ SHHE BE|H A0S SEH0 LI

> oY

HTY UL AY O|SBH ALRE|D TH6P|
TR H2 aky
MY 28 DHY 2
¥l UM 0|53 HAH2| 0lSH Hirsin LEH0In
HHED Bahy
n n
[> CIO|OHRE Skt

EEH=® w0(7| Hsiof Clolol=E HEl= HiE
k= Ay
HARIHE AZHME QiU

b HHH 4
2 WaKSI ES AZNMS| EH0| D BE X2
DT
STHEITAE HAISY UHM OIS K2 o
S0l AR % 2L
B A&
b ofFH 48 DHY 2

2212 By 0I5 LD 2 LU0 NGS
DEY AL} SHEE FASID HBE HLICH
OIEA =T TEAR0| S48LC)

H 58 wRlEs
5.1. 04 AE SR MY
AELS ALBTHILE 7| PE0| RAtH £ ORYSI T2 AKLE Bt0} fiC)

5.2.0 AHBHO| MM

FHAEHE ALREIZ] Hil, S 01S0/u 220|128 HS617) Hl oY) 22 Al
=& Hasol ghch

5. 3.0 H7IEaME

IAES| HIIHAR 0120 U2 AEE £ DIE 22 WML ELICL
[+ FHAE|2] 2E7|EE B ECE
[- | AE{2] H240|3 RSHEE HEUCH
[ AL 22 01EE& HAHELC
[ H1F2 T RdEE HALCE
[ FHAE 2] 2jER R D2 HelE HEULICL

b HAEH #EHO| 2= HERHAME ARSSIA| DAL

5.4.0 DEEC R EAYY

[+ Z[EHEAILI CHEt SR} ROAEE E= ASTH EOH AP0 = HH
o] K 2 RS FAI7] vpBiLCL

=E HSWUBMY HES A2 011810 RTHM, SAL REGME AN, 2 HSABMO L[S 4SITYFIN USLICL

139



